ST -1
Unit-I
B = Al oe s weftmew

Linear Equation in Two Variables
Tqfei® U¥e/Objective Type Questions
Short out the correct answer from the following given four answer.
g 1 ge gl g, x+by=c W ax+hy= e o1 8
sfgda srm afy
The simultaneous Linear equation
a,x+by=¢
a,x+by=¢
Will have a unigue solution if

oo

I

Tlo Fle
©lo

@ 5 6 (b)

oo

© o*p (d)

ged 2 IfS §HIARUT 2x + 3y =3 GHIHRYT BT YT & af FrefeRead
g wiovor & U% & s BN |
If we draw a graph ofh2+ 3y =3, the following points will lie in the graph
@ (2.5) (b) (-1,3)
() (1.-3) d (3-1)

U 3 9HoNu e &1 g BN |

The Solution of system of equation
8x+5y =9 and &+2y =4 is

(@ x=-2,y=5 (b) x=-2y =-5
(c) x=1,y=-2 (d x=1,y =2



U3 4

U 5

U 6

U 7

U 8

e e &1 & 8N |
The Solve of system of equation
7x-2y =1 and 8+4y =15 is

@ x=3y=1 b) x= 1, y=1
(c) x=1,y=3 (d x=-3,y =1

K fod a9 & o §fiexor Kx+2y = 53R 3x+y =1 &1 JAfgd
BN |

The Value of K for which the system of equatioatRy =5 and &+y =1 has a
unigque solution then

(@ K=6 (b) K=-6
(c) Kz-6 d) K z6

TP AU gRT RIPd FNHROT 2x+7y = 11F x BT A9 2 @A
Wy & HE BN |

The graphically solving system of simultaneous equati®idiy?=11 by putting
the value ofx = 2 then y will be

(@ -5 (b) -3
(c) -3 d) 5

e e § x T AE BRI |

In the following equations The valuexokill be

-6x+5y =2
-5x+2y =9
(@ 2 (b) 3
(c) 4 d -3

1 afiexor § y &1 A 8N

In the following equations The value pill be

4x-3y =6
5x-2y =11
(@ 2 (b) -2
() 5 (d) -5



U 9 K o fod 99 @ forw wiiexur @1 g« g 8

The value of K for which the system of equation has a unique solution
2x-3y =1,Kk+5by =7

@ 0 K=2
© k=3 @ K=

U 10 K @ 59 79 @ fou 9fiexor &1 ga 3Hd &R

Determine K for which the system of equation has infinite solve.
+y =3, &8+2y =5K

@ K=< (0) K*

© K= 2 @ K*

olo oo

U 11 QA JI9d SR d Aue e w1 3 _¢E g

The general system of two simlﬁlf‘an%ous equation %Hfsa then

(a) has unique solution (b) No solution
afgdha & IS & E

(c) infinitely many solution (d) None of these
IFTT: D TA S ¥ PIg 8

e 12 Q& FIUd GHeRe H ae e

The gen. system of equation of two simultaneous equation
ax+by=q
ax+by=¢,

wraR 2=2 dar



13

14

15

16

.. a b _ ¢
Ifitis —=—#— then
& c

b
(@) No. solution (b) Unique solution
BIg TA TE eI AP Eo
(c) None of these (d) infinitely many solution
DI A T8I T 9§ BI3 8A I

3 gIUd GHeRe H we e

The gen. system of equation of two simultaneous equation

ax+by=¢
ax+by=c,
b
@A —=2=— A
a b c
_b_ga
Ifitis —= - then
(&) unique solution (b) No solution
afgda & IS & E
(c) infinitely many solution (d) None of these
IFTT: D TA S ¥ PIg T8

1 el § x @1 A BN |

The following equation has the valuexolvil be
2x+4y = 5’ 6x -4y =- 14

(@ -1 (b) -2

(c) 1 d) 2

e i)l ¥ oy &1 A9 BT |
The following equation has the value of y will be
/x+1ly =1 8x+13y =2

@ -3 (b) 3
() 2 d -2

T I BT AN 35 § AR AR 138 3fd BN

The sum of two numbers is 35 and their difference is 13 the number is

(@ 11 (b) -11
(c) 9 (d) -9



17

18

19

20

21

22.

T BT BT AN 35 B @ S9MI FeR 11 8 o 3id BRI |

The sum of two numbers is 35 and their difference is 11 the number is

(@) 10 (b) -10
(c) 12 d) -12

]I 3P BT AT 8 B AT SADI INT S5 S} & IR T[T & af

3®d B |

The sum of two numbers is 8. If their sum is four times their difference the
number will be

(@ 5 (b) 2
(c) -5 d) -2

frafafaa fdues fag g s § 2 |

On which axis does the following point lie is P(4, 0)

(a) YA (First) (b) fe<iia (Second)
(c) I ( Third) (d) =qel (Fourth)

frafafaa fdues fag g s § 2 |

On which axis does the following point lie Q(O,5) R (-3,0)
(a) YA (First) (b) fe<iia (Second)

(c) TCTI ( Third) (d) =qel (Fourth)

frafafaa fdues fag g s § 8 |

On which axis does the following point lie is R (-3,0)
(@) TH (First) (b) fedra (Second)
(c) I ( Third) (d) =aged (Fourth)

frafafaa fdues fag foa s § 2 |

On which axis does the following pint lie is S(-3,0)
(@) TH (First) (b) fe<dra (Second)
(c) I ( Third) (d) =qel (Fourth)



23.

24.

25.

26

27..

2x+3y=11, 2x-y= -139 FHIHIOT H X 3R y BT A 8111 ?
In given equation the value of x and y are :

2x+3y=11, 2x-y=-1

(A)3,1 (b)4,2 (c)1,3 @d)1,4

B A1 A TelRid oxar 2 5 aiieRer &1 B ff g T8 gar ® ?

Which formula shows the equation has no solution :

a b a_h_ ¢

(@73, " 5, )% p 7
a_b_g

(c) a b G (d) None of the above

i O BT g IHS GF DI AT BT AT SITST SIY Al ANHSA 70 Bl

2 3R AN g &I AP H U BT A1 BT AT SIrST MY Al ARTHS 95

BT &, o T @R g3 @ oy @nft ?

If the age of father is 2 times the age of son, than sum of ages is 70. But
if twice the father's age is added to the son's age, the sum is 95. The
Ages of father and son will be

(a) 45 yrs, 15 yrs (b) 30 yrs, 15 yrs

(c) 40 yrs, 15 yrs (d) 50 yrs, 20 yrs

QT 3T ITCll HEAT BT AT AT Dbl & HH Pl Iolc o TR UG gs, Gl
@ IR A & IRER © 3R BT BT ANH 3 8 | AT eEfl |

Seven times a two digit number is equal to four times thew number
obtained by reversing the order of digits, and the sum of the digits of the
number is 3. The no. will be

@12 (b)15 (c)18 (d)20

3 {1 3R 2 Al BT eI 700 %, 2 | AR 5 HAT 1R 3 HGIl DT oI 1100
®. T2 Al AR 2 A HT oI BN |

The cost of 3 chairs and 2 tables are 700 Rs. and the cost of 5 chairs and
3 tables are 1100 Rs. then the cost of 2 chairs and 2 tables will be
(a) 800 Rs. (b) 600 Rs. (c) 1000 Rs. (d) 1200 Rs.



OIS 1
@ @ =ofer a8 M eeflemeu

[LINEAR EQUATIONINTWOVARIABLES

At 99 wd €] T W Short and Long Answer Types Questions

U 1 od Hifole fb k @ fFa 99 @ fou wifiexer &1 g afgd

BT |
kx +2y =5
x+y=1
Find the value of K for which the system of equations :
kx +2y =5
x+y=1

UHE 2 m B A9 wa g, e ol fer
3x + 5y =12
2y - mx= 7
Find the value of m which the system
3x + 5y =12
2y - mx= 7

U9 3  BA DY :
2x+3y=11
2x-y= -1
Solve the system of equations
2x+3y=11
2x-y= -1



U 4 GHHRY Fe™ B ' DI
X+4y=7

xX-y=1

Solve the system of equations
X+4y=7
2x-y=1

U 5 HHIGYUT B DI
3x+5y=19
Jy-7/x=1
Solve the equations
3x-5y=19
3y-7x=-1

U 6 HIHIUT B DIOY
x-2y=1
3X+4y =15

Solve the equations :
x-2y=1
3x+4y = 15

U 7 RN e g diforg
XxX-3y=1
2x+ 5y =19

Solve the system of equation
53y=1
3x+5y=19



U 8 HHIGNU e g diforg -
2xX+7y= 11
-3x+ 5y =-1
Solve the system of equation
2xX+7y= 11
-3x+ 5y =-1

Ted 9. FHIHNU Mo g diforg -

-6x + 5y = 2

-ox+ 6y = 9
Solve the system of equation

-6Xx + 5y = 2

-5x+ 6y = 9

TeT 10. FHIHNT T g dHiforg -

X +4y= 24
20x - 11y = 47
Solve the system of equation
-3X+4y= 24
20x - 11y = 47

g 11, g VT & cor tar 99 € &5 e o Fen

-cx+3y= c-3
12x+cy= c
Prove that there is a value of c for which the system
-cXx+3y= c-3
12x+cy= c



U 12

U 13.

U 14.

U 15.

a @ 98 " Rrae o P &1 #1g g 8 8|

2x+ay= 1
X-5=7
The value oawhich the system has no solution
2x+ay= 1
X-5=7

frfafea e 4 sagd & suar afgda sa & a1 @18 &
G|
x-2y= 3
3
11x - Ey = 8
In the following system of equation determine whether the system has unique
solution or no solutions
X -2y= 3
3
11X - Ey = 8

=1 wiiever e @1 e A ¥ ga Fifsg -
X+y=3, X+5y=12
Solve the following system of equations graphically

X+y=3 X+5y=12

ey e 31 e At | g IR
3X -5y = b5xy
8x +10y = 1&y

10



Solve the following system of equation graphically

3X -3y = 5Xxy
8x +10y = 1&y

Te 16. FHIHNT BT g DHIfoIQ -

l_5+_2:l7
u Vv

Solve the system of equation

1_5+_2:17

u v
11
R
u v

36

5
N A N yds Texw & ga & A
The following equation and in each case whether
(@ x=2,y=5, and (b) x=-1,

U9 17 2x+5y =13

U3 18 b5x+3y=4

U3 19 2x+3y=4

11



20

21

22

23

24

25

26

27

2x-3y=11

frafefaa Wae giievy Forl @ read Yy 4 s g

Solve the following systems of simultaneous linear equations graphically

X+3y=3
2x+ 5y =12
3x-5y=-1
2x-y= -3
3x+2y=14
X +4y =7
2x+7y =11
5x+3—5Y= 25
2
4x+6y=9
5x+ 7y =10
3x+2y=8
2 44
5x + gy:—3
X-2y=5
2x-4y =10

12



28

29

30

31

32

33

34

35

36

fr=feRaa afiexor g @Ifvg

Solve the following systems of equations

X+y=7
3x-2y =11
X+ y=7
5x+12y =7
7x-2y =1
3x+4y =15
5x-3y=1
2x+5y =19
8x+5y=9
3Xx+2y =4
-6x + 5y = 2
-5x+ 6y =9
3x-5y =19
3y -x=-1
xX+1ly=1
8x+13y =2
X+4y = 24
20x -11y = 47

13



YT 37 5x+3y=70
3x- 7y =60
YT 38 5x+3y=70
3x- 7y =60

U 39 2x+7y=11
-3x+5y=-1

U¥T 406 2x+ 3y =31
17x -11y = 8

xR y& forg weru o™ & g fHIvg —

Solve the following system of equations@nd y -

9% 43 x+ay=0b

ax-by=c

U 44 7x-2y =3
3
11X-§y =8

14



U 51

6x+5y =11

15
9x+3y—8
2X+3y =7
6x+5y =11
3x-5y =20
x+2y =17
4x+7y =10
1Ox+3—5>'=25

2
6x+5y =11
9+ES =8
X 2Y—

k & a9 9 #ivy e fog e

kx+2y =5

X+y =1

@ () TP Mg 8 8, IR ()P W 'A T B |
Find the value of k for which the system

kx +2y =5

X+y =1

has (i) a unique solution,and (ii) no solution

Rig oI & ¢ &1 @ W1 99 8 e fog Fam
cx+3y =c-3
12x+cy =c
@ I 3P B B & 9 HM B WA B |

15



Prove that there is a valueafor which the system.
cx+3y =c-3
12x+cy =c

has infinetely many solutions. Find this value.

U 52 k& 9H & foU e x + 5y-7 = 0, & + 20y +k = OHUl @R
yeiRfa e ?
xR yae = Iiexe ferl # ga AR
Find the value ofk for which the systenmx + 5y-7 =0, &4+ 20y +tk =0
represents co-incident lines.

Solve the following system of equatiorxiand y

9% 53 ax+by =a-b

bx-ay =atb

U3 54 ax+by =a-b

bx-ay =atb

U3 55 ax+y)+b(x-y)=&ab+b
aX+y)-b(xy)=az2-ab+b

U 57

9e 58 5=%,ax+by= #+ B
a

16



U 59 T GEHR BT AT 35 dAT SHBT IR 13 8, &R S Do |

The sum of two numbers is 35 and their difference is 13. Find the numbers

UTT 60 < AR BT AN 8 © | AR DI AN, FAD HAR BT AR AT
B O =R o e |
The sum of two numbers is 8 if their sum is four times their difference, find the

numbers.

e 61 W A W TF B A B foern oty dfw 99 9 A g oA
DAY B I TA @ GRAN | A TN R QT P A T |
| am three times as old as my son .Five years later, | shall be two -and-a- half

times as old as my son . How old am | and how old is my son ?

UeT 62 UM 9% Usal W oMY W G df g I fn off | <9 99 91«
A Y 7T P A B G B AR qasd e TR Y
T 7 ?
Five years ago . | was -thrice as old as my son and ten years later | shall be twice

as old as my son. How old are we now ?

e 63 IR U =1 @ o # 1 i fear oy ok &) & 9 1 der
Wg o =1 1 8 Srn &) Afe dae A 1 os fowm @ B
% 8 o 2| = e @i |
If we add 1 to the numerator and subtract 1 from the denominator a fraction
becomes 1. It become%.‘if we only add 1 to the denominator. What is the

fraction. ?

17



U 64

YT 65

U3 66

U 67

U3 68

QT SPr TqTell HE&AT BT WA AT Dl @ HH Pl Salc o W U<

gs, W& @ IR A B TR © AR AP B IS 3 | HE

A BIQ |

Seven times a two digit number is equal four times the number obtained by
reversing the order of digits, and the sum of the digit of the number is 3. Find

the number.

A ABC 0C =3B =2 (DA+gB)# e & I @1 sma

PIQ |
In,aAABC oC =3 B =2 (gA+B) Findthe three angles

o agds ABCD gA =(2x+5)°, 0B =(y+3), oC =(2y+10},gD
=(4x-5)°,ART BT AT HIFT |

In a cyclic quadrilateral ABCD

0A =(2x+5)°, 0B =(y+3Y),

0C =(2y+10Y, o D =(4x-5)°

Find the four angles.

3 g R 2 AG BT Yo¥ 700 ® T AR 5 FHA R 3 A Br
T 1100 & B 2 F 3R 2 #ASl & Jod T DI |
3 chair and 2 tables cost Rs. 700 and 5 chairs and 3 tables cost Rs.

1100. What is the cost and 2 chairs and 2 tables.

TH IO R A R | AR gD A g o B R
B Y WU SR | ¥ G 8l 8 3R U@ I BR § | |
I A AN PR TH & R A gerht F A T 7 R A B
d o § R I 7 Ruda Rem § (v ' R Fod 8
a3 @ gC 9% fierh 31 IR N T 9 By |

18



Point A and B are 70 Km apart on a highway . A car starts from B at the same
time. If they travel in the same direction , they meet in 7 hours, but if they travel

towards each other they meet in one hour. What are their speeds?

Ue 69 IRX B omaa oY olaig # 5 3HE B PN B & WY AR DS
H 3 3Pk o gfg B A AN A SHD &Fb H 9 T FHE D
D AT W B | R AR SHD 91g H 3 P g HX @ Y
3R dIerg 7 2 sBE P g IR GIC A SED AFBA A 67 I
PR B gfE B RN ]| AT 9 dars R A s PR |
The area of a rectangle gets reduced by 9 squre units if its lenght is reduced by 5 units and
the breadth is increased by 3 units. If we increaces the lenght by 3 units and breadth by 2

units, the area is incresed by 67 square units . Find the length and breadth of the rectangle.

Teq 70. FHIHNOT T g dHiforg -

E_E—zl
vV u
g-ﬂ:ﬁ
Solve the system of equations\:' u

E-E:l

vV u

g-ﬁ:ﬁ

vV u

19



Solve the following equation forand y.

T 72. W W A ERNMD 3w § 2 gem IR | & 3 oed R @8

U 73

U 74

U 75

lLaome swd 6ok &Ra 39 T 5 | 9w
g BT 2 = ?I'Ilﬁ HIY |

Fracation reduces t? when 2 is subtraction from the numerator and 3 added
to the denomination . It becoméswhen the added to the numeratior and the

denominator is mulutiplied by 3.find the fraction

fr=foRaa e ¥ Ta=d & s9ar gy g« 8N, &S &d
T8 BN AT I B B

3x+4y=15
4x+@=16
3

In the following system of equation determine whether the system has a unique

solution or infinitely many solution

3x+4y=15
4x+@=16
3

U6 &I T BT W T | S AP B PGS 12 B AR
THY 36 Gl © O 3P & W g5l O & | & S P |

A number consists of two digits whose product is 12. If 36 is added tot eh

number, the digits are reversed. Find the number.

I AT ABCD H A = (2x+4)°, OB = (y+3)°,0C = (2y+10)",
0D = (4x-5)° TRl P FT DY |

20



U 76

U 77

U 78

U 79

In a cyclic quadrilateral ABCI1 A = (2x+4)°, 0B = (y+3f,gC = (2y+10),
0D = (4x-5)°, Find all the angles.

] P Gl W& T A [T DI B HA P IAC a1 W U

T U B IR A P TR § 3R AP BT ATHA 3 8 | GE&AT

A BIQ |

The sum of digits of a two digit number is 3, and seven times of the number is
equal to four times of the number when the order of the digits are reversed.

Find the number.

o HE&T # QI 3@ T HET BT B ANT BT A6 AT 2| GEAT

# ¥ 45 geM W 3@ Se€ O © | €& q@1 BRf ?

A number conists of two digits. The number is eight times of the sum of its
digits. When 45 is subtracted fropm the number, the digits are reversed. What

is the number. ZDE

2

&0t PBrst ABCH g A=x,gB=83x 3R gC=y & 3R
3y>-5x0 = 3008, @ fig HIfg & I8 wwar Ayw 3|

In anyABC, 0 A=x°, B=3x°and C =y If 3y°>-5x’ =3, prove that
itis right angled triangle.

A A W G P AY B N 21 5 9§ gwEd A g A
@ g B T Bt | A &R W gF B A Ay |
lam three times as old as my son. 5 years later | sha?l—})eimes asold as

my son. Find my age and also my son.

21



UTT 80 UM WA Usal W IMMY U YA I Y U GA i Y forn
off ok <6 9 919 A I AU GFA DAY DI AT B
S| 9aTsy & e FHRY dOm UF Y Mg B ?
Five years ago. | was thrice as old as my son and ten years later. | shall be twice

as old as my son. How old are we now ?

Ue 81 Il T =1 & 3w A 1 wiie fQar ok &89 § 9 1 ger far oy
af =7 &1 99 1 8 o ® 3R I} daa W § 1 S far @
& A 2 S 2 B e AR |
A fraction reduces to 1 if 1 is added to the nu merator and 1 is subtracted from
the denominator and reduces% toif 1 is added to the denominator only. Find

the fraction.

7o 82 IR Rar & oy A SHd gF N AP A AT WSl WF @
ANTHe 70 99 BIaT o | AT gF I oMY H M ot ey @t g
SISl O @ ANTha 95 99 B & far iR g3 @ ey W
PG |
If twice the son's age in year is added to the father's age, the sumis 70 years. If
twice the father's age is added to the son's age , the sum is 95 years. Find the

age of the father and the son.

UeT 83 QI Bl dlell WE&AT 3R Bl DI Iolc o W U g§ G&AT DI
AR 121 & O i ¥ 3 FT IR ¥| HEmRl B o PR
A number consists of two digits whose difference is 3. The sum of the number
and the number and the number obtained by reversing the digits is 121. Find the

numbers.

22



Y3 84.

Y3 85.

Y3 86.

Y3 87.

Y3 88.

Y3 89.

Y 90.

THHRT BT Bl B I |

Solve the system of equation -
X+y=5
2x-y=1

THIHRT B IOV |

Solve the equation -
2x+3y=19
3y-7x=1

THIHRT B IO |

Solve the equation -
3x-2y=3
3x+4y=15

THIRRT B IOV |

Solve the equation -
3x-2y=3
3x+4y=15

THIHRT B IO |

Solve the equation -
-X+2y=1
2x+5y=17

THIHRT B IO |

Solve the equation -
-7X+2y=16
-2x+5y=1

THIHROT hI 8 DHINT |

Solve the system of equation -
-3X+2y=-2
-5x+6y=2

23



U3 91. THIGNUT bR 8 BHIfTU |

Solve the system of equation -
X-3y=-3
4x-5y=2

U 92. a &1 A forae oy e, @I 8o F8) 8l |

The value of a which the system has no solution.
2x+8y=1
3x-5y=1

24



sms -2
Unit-2
iy o®m

Rational Expression

wgfe wa  (Objective Type Questions)
die - AT R ™ o e @ @ = g -
Short out the correct answer from the following answer.

U 1

U 2

U 3

U 4

(XX—ZJ is equal (SRTER ?)
(&) x= (b) x°
(c) x° d) x

I X+ X146 B x- 3 A Bl UG A § 9FT N W AU 2

If X3+ x2-19x+6 is divided by then reminder by 3 the reminder the rem is

(@ 39 (b) -39

3(2
(c) 72 gﬁﬁjéJr? -72

o x+§ uRi e wT A T WY o o S |

1
If X+; Is divided by then reminder by 3 the reminder the rem is

@ X2 (b)
X* +1 2x+1
© X @ =

BT INOIRS Ufael™ B8R |

Reciprocal isx2 *3
P X2 -7

X2 +7 x3-3
@ 0 2
X2 =7 X2 =7

25



U 5

U 6

U 7

U 8

X+1 x=1
+

BT 49 B |
X -2 X-=2
X+1 x-1
The Value of——+ will be
X -2 X-=2
2X b 2X
@ -2y ®) 52
X -1 x° -1
© = @ -
2+1 x*-1 . .
X2>:_X2x IRYY ol ® ©Y ¥ had dNd B |
xXX+1 x°-1 i ) .
- expressed as a rational expression given
2X 12x
@ = (b) x
x? -1 xt -1
(©) — @

RaR S R afea ot R°- S&1 9 8 |

If R and S are rational expression, théfBRis
@ (R-S)(R-Rs+S) s(b) (R+S) (R-Rs+S)
(€) (R-S)(R+Rs+S) Ld) (R-S)(R+Rs-S)

X

ffafeg — & &1 79 8

y
The value 01’5 from the will be
X+2 2
x—y_§
-5
() 1T (b) )
€ 3 @ =

26



U 9

U 10

U 11

U 12

U 13

U 14

X2 +3x+ 2
=" " @ IR Ufad™ B |

. X2 +3x+2 .
The reciprocal of ———— is

X2 —3x+2 X2 +3x+2
@ —— O ——
X g X
() X2 +3x+ 2 (d) x> =3+ 2
X X IR ASPH BT & BN |
x+1 X -1 g
) . X )
Rational Exi)ressmn Ofx_+1'—x2—1ls s
X - X
(@) — (b) X
d —
(C) ( X + 1

T g aRl ? Find true and False

T ATD  + J3x+ 4 TGUK DI D © ?

Is the expressiom® + \/3x+ 4, a poXIynomiaI expression ?
x -1

T HAD x2+2/x+4 9gUG BT D © ?

Is the expressionx? + 2 /x+ 4 a polynomial ?

. X2 =-2x+1 .
T BAG ——  TGIR BT Ao g7
Iswa olynomial expression ?

. X2 —3x°+2 . 5
Tl & @oe —— - e IRA & R

3 2

. X=3x°+2
Is the expression—-_;——

R rational expression ?
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) x* -1 i
TSI 15 T oldh IR aeie & ?
x* -1 2x +4

Is a rational expression ?
2Jx +4 P

x2+\/7+2
TSI 16 T Eoldh 5\/_—3 Th IRIY Iold T ?
-2

X +\/;+ 2
Is the expression\/_—f"’ a rational expression ?
X -2
&g g <" ST U (Short and long Answer Type Question)

U 17 9 @ iR IS B WU ha i

1
X+—
X

1. : :
ExpressH; in the form of a rational expression.

yeq 18 ffoaied oy doie g79 &1 T 9| s -
X+2 X+2
X-2' x—2
Find the sum of the following rational expression :
X+2 X+2
X-2' x—2

g 19 XL ¥ g- W o @ee Sier o B oas 28 gy

X2 +2 X2 +2

W ?

. . ! 2x° —x+3
What rational expression shoud be addeel)%g)r—2 to getL?

X2 +2

x? -9 . X2 =4

20 X +2 X +3

B UFhe A DY |
_ x> -9 X* =4
Find the product ofX o and 33
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U 21.

2x—x+3
R +2

a‘r |
What rational expression should be addeé(—te— to get—+2

2x—x+3

e 22, f=faled &1 qomwma @ @I

U 23.

U 24.

X2 -4 x> -4
X+2 X+3

Find the product of the followihng pair of rational expression :
x> -4 X2 =4

and

X+2 Xx+3

2 _
X1 @k 3X+1mgmﬂw§|ﬁa‘ﬂﬁm

X+2 -6 N a1
Find the product oTX— and > +6

2
R TR mwwaﬂﬁﬁl

X+1 X = 2X~ 3 oy 49
X +
Find the product of a nd——> 3

geq 25. ffofea ave @ gaaq wu d fafag

9x* -16
3X° -7x+ 4
Express the following into simple form :
9x* -16
3 -7x+ 4

g3 26. fr=ifolad @oie @ gAa¥ Usl § &aa difeg —

3x* - 27
2x* —5x-3
Express the following expression info simple form :
3x* - 27
2x* -5x-3

29



U 27

U 28.

U 29.

U 30.

U 31.

. frefafea o oRAa @iee d eq s —
X*+4 X*+2x-6
x—2  x+2
Express the following in rational expression :
X*+4 X*+2x-6
x—2  x+2

A= 2 ek B=2Z1 g A-BF um I ARF —

2x-1 2x+1

If A= 2X+1and B :ZX_1 find the value of A-B.
2x-1 2x+1

HG S BT —

ab (a-b) + bc (b-c) +ca(c-a)
Factorize the following :

ab (a-b) + bc (b-c) +ca(c-a)

OFETS B BIVY —
X(y-z) + ¥ (zX) +Z° (X-y)
Factorize:

X(y-2) + ¥ (zX) +Z (xy)

TUFETS  Hd DY —
X(y*-2°) + y(y*-X°) +z (¢*-y?)
Factorize :

X(y*>2%) + y(y>=x?) +z (¢-y?)
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32

33.

34.

35.

36.

UEETS | PTG —
a(b?+c?) + b(c*+&) +c (@*+b?)+2abc
Factorize the following :

a(b?+c?) + b(c?+&) +c (@+b?)+2abc

&(b+c)+lF(c+a)+é(atb)+2abcar TomEre  Fd i -

Factorize

&(b+c)+l¥(c+a)+é(a+b)+2abc

THREvS  F[ SN
a(b-c¥+b(c-af+c(a-bf+8abc
Factorize the following :

a(b-cy+b(c-af+c(a-by+8abc

UFEYS  ®A BIVY -
a (b-c) + B(c-a) + é(a-b)
Factorize the following :

a (b-c) + B(c-a) + é(a-b)

UFES  §A BIVY ¢
& (b+c) + B(c+a) + é(a+b)+3abc
Factorize the following :

& (b+c) + B(c+a) + é(a+b)+3abc
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U3 37. UFAEUS S DY :
a(b-c} + b(c-a¥ + c(a-bj+9abc
Factorize the following :

a(b-c¥ + b(c-a¥ + c(a-b¥+9abc

U3 38. UMAEUS S DI :
a’(b-c) + B(c-a) + é(a-b)
Factorize the following :

a(b-c) + ¥(c-a) + é(a-b)

g% 39, UAEUS Hd B :
a(b?-c?) + b(c2-ad) + S(a-1?)
Factorize the following :

(P-C?) + BR(C2-a) + C(a-b?)

fr=fofag oot X .y & 99 9|9 & |

Find the value af : y in the following

x+ty_2
W 40 LT
2x-3y_6
LA B B
-3y _2
W 42 15,77
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43

44,

45

46

47

48

49

50

Ife a: b =2/3 a@r (a+2b)/(a-3bjer 79 T B |
If a: b =2/3 find the value of (a+2b)/(a-3b)

a1 "Rl o agu 11:167 3 @ e f$ g8 sgua 3 4
8 g ?
The rate of the two numbers 11 :16 what number shall be

devoted to each so that their ratio become 3:4

frfofiaa &1 agafgur s =0 |
Find the fourth proportional of the following

7,9 21

P, 3p, 2p

frfafReaa &1 wegrgurht stra &
Find the mean proportional of the following
3, 27

4x2, 9y Z

frafafaa &1 girgoreht s s |
Find the third proportional of the following

4 10
8xy, 4xy

frafoRag & X &1 99 S d B |

33



Find the valu&in the following

14 :35::16 X
6:10::x:25
IR (X-1) : X (x+1)r dF X BT 99 Fd B

Find the value ofkif (x-1) : X : (x+1) are in continued proportional.
IR (1+x) : (3+X) : (6+X) & @ X BT AN T B |
Find (1+x) : (3+X) : (6+X) find the value ok

23,30,57,78% Ux® | PIH W H& " WU fF Auha
What no should be subtracted from each of the no 23, 30, 57, 78

11,20,26,31kR 50 & 9§ Ud® A T Tl o & Avhd

FATUT 8 ?
What should be subtracted of from each of 11, 20, 26 and 50 so as to
make them proportional.

I} a AR c & FIEURT bE @ g T

&+ _ ac
ab b
IFf be the mean proportional of a and ¢ show that so that reminders are

proportional

a®+bf _ a+c

ab b

I a:b=c:der @ g = &

Ifa:b=c:dprove that

a+c
b+

olo
o
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59

60

61

62

63

64

65

66

67

68

bd b?
ma—nb: mc-nd
b d
3a+4b= 5a+6b
3c+4d 5c¢+6d
ac+bd _ a +h
bd b?
a’+c® _ b+
a2-c2 b*- d?
a’ + b? _ ac+ bd
a’-b* ac-bd
a’-b’ _ - d?
ab cd
a2 -2 _ Q2
b2 -d> b
5a+ 6b _ 5c+ 6d
5a-6b 5c- 6d

R =L AR T oo 2Dy

4ab
If x=—2 then prove that
atb

a+b

X+2a x+2b
+ _

x-2a x-2b

35
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3ab
a+b

= ar ﬁl?;’ w3 . 2x+3a+ 2x+3b:2

U 69 T x= VA

3ab
If x =220 show that
a+b

2x+3a+ 2x+ 30 _ 5
2Xx-3a 2x-3

99 70 atc_ac
b+ -d
a+¢ ac
U 71 - & bd
a2+ &
YA 72 —bz-dz :F
a’+ab+l3 _ é +cd+d
RT3 a’-ab+B @ -cd+4d
(a+c) _ a(a-c)
T T4 (ordy  b(b-dy
ma+nb mc+nc
Y3 75 =
nb nd
a ¢ e
a_ ¢ _¢€
If 5 g _fprove that
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2

76 & _actac
b> bc+ df

77 —a2 + C2 :E:
b’ +d* df

78 a+c+¢e 4o

g 2c8_dc
bdf b*d

It ab,cR d fRamargue # & g & &

If abc and d is continued proportion show that

80 (b+c) (b+d) = (c+a) (c+d)

81 a+abt+ b _ a
b>+bc +bé ¢
a+b+abé_  a
82 S5 ———=—
b+ ¢’ + bcd d
a b c
83 IR = o g a9 fF

y+z  zZ+X X +y

a(b-c) _ b(c-a) _ c(a-b
y2_ 22 - 72 %2 - Xz_yz
a b

_ _C
| f vz 7 x4y show that

a(b-c) _ b(c-a) _ c(a-b

y2_ 72 7222 X2-y2
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T 84 R — =L =—2_ q Rig B b

btc cta a+b
(b-c) x + (c-a) y +(a-b) z=0

X _y _ z
| f bic  oia ax bthen prove that

(b-c) x + (c-a) y +(a-b) z=0

2ab X+a  Xx+b
v 84 AR x=——dr g w fF =2

a+b X-b

x+b:
X-b

2

2ab X+a
If X=——+then prove that —+
a+b X-a

a_c a _ 1
e 85 T 53 o Rig + & Gt 0 arbr o ¢

a _ 1
(a+b)(at9 at bt ct o

a_c )
If b then prove that
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sEE -3
Unit-3
o Feftemew
Quadratric equation
%] fe YII—Objective Type Question
AT - 97 Ru W SR e & 98 SR g
Short out the currect ans from the following given four Ans.

1. IfT ax+bx+c=0dr x =

If ax?+bx+c=0then x =

bz b2+ b+l -4ac
(8) D/ +dac (b) bED-dac
—h+ 2 _ 2a
(c) == 2ba tac C) R s
2. FHIBRUT (X +1-X—1=J4X— 1 D T Bl DI AT 5—
The posscable solu of equation will be
(a) (Zero) () W x-2(I-m=0
(c) (Two)(a) ) More tRan tvaﬁ NESIBED)
3. ar x &7 A BN

2
It (x+1j —g(x—ij =4 then the value of x

X X

(@) -2 (b) 1/2
(c) -1 (d) 0
4. A I, m, n gafad B dgAT | #gm I FHIHROT
@ e o—
If I,m,n, is a real where then the roots of equn
will be -

39



(@) readandequal (b) Imegenary

IR TIh TAT THAH CARSIRES
(c) readand unequal (d) None of then
qrEfaed dT SFAT ERER RN

22 = 50 H x BT A9 B8R |

2x?=50 then the value of x will be

@ 5 (b) -5
(c) 25 (c) -25

X2+ 2X-15=0 BT A BT |

Equationx? + 2x - 15 = 0 then the value &fwill be

(@ -5,+3 (b) 5,3

(c) (5-3) (c) -5,-3
o, P
B a

Ife FHHRT a¢+bx+a=0 & T o B B AT BT A BT
& A BRI |

o
If aandfis the roots of equationéat+ bx + a= 0 then find the valug "

will be
(@) b~ (b) bz-2&
(© 25 (© T

a2
e v AT BRI @ +Px +r=0 P Hel B Al 1+ 1, BT A S

If r.and r are the roots of equatiam® + Bx + r=0 then find the value of

a2

r+ r, will be
] ] o
@3 ®2 ©2 o3
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10.

11.

12.

13.

afe IHieRuT 62 +x-2=0 & O 3iR Bﬂﬁﬁaﬁ%%aﬂﬂwgﬁm |

If a, Bare the root of this equatiom®6+x-2=0 then the valuec%+E will

o
be
@ o ® Z
() 32 © 2

af fxdl ofd ok S|&T avf  ® T 3 gl |
: 35 .
The sum of a number and its squar%—lﬁnd the number
5 2
@ -5 ()

© - © -2

CUEGNEICNRCIEID IRl f\‘rlsgq?w Il BT AN 221

Find two consecutive natural number whose square have the sum 221.
(a) 10,11 (b) 11,12

(c) 12,13 (c) 13,14

afd x2-9x dl x & A

If x2- 9x thenxis as

@ 3,0 (b) -3,0
(c) -9,0 (c) 9,0

(x+3) (x-2) =0 &1 & o1 &

The roots of X+3) (x-2) =0 are

(@ 3,-2 (b) 3,2
(c) -3,2 (c) -3,-2
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14.

15.

16.

17.

18.

ac-b=0 & I JT &
The roots of &-b =0 are

@ *3 6 =

a
© =2 © >

AfE (x+7) (x-5) =0 & A X BT A ENTT |

I+

If (x+7) (x-5) =0 then the current valueois
(@ x=-7,-5 (b) x=75
(c) x=-7, 5 (c) T4 W P13 7T None of then

afg 2@+5./3+6 =0 AT X BT A9 BT |
If 2x*+5,/3+6 =0 then the sum of its root is

2
@ 5 ) 22
© 3 © 2B

Af A T AN 6 T 3R UM - 16 & Sl FHIHIOT 81T |

The quadratic equation the sum of whose roots is 6 and product is - 16
(@) X+ 16x6=0 (b) x2-6x-16=0

(c) *x-16x+6=0 (c) x*+6x16=0

afe AHHROT 2px2-8x+p = 0% Hol dRTER B @l G p T A1 BN |
If the roots of 2gP-8x+p = 0 are equal then the value of p is

@ 242 (b) 22
() +22 () +2
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®g @ @f @ W& (Short and Long Answer Type Question)
U 1 (5x-82=0 7 B DIIT |
Solve the equatio(bx-8)2 = 0.

U 2 FHYBNUT [x(r+9]2=0 BT B PIOY |

Solve the equationx(r+s)]?=0

e 3 HHIBRUT (x+8) (x-9) =0 P HA TG PIVIY |
Find the roots of the equatior+8) (x-9) = 0.

U 4 FHIGIUT B DY
8x*-14x =15
Solve the equation
8x?- 14 x = 15.

g 5 WHIGRY (3-x) 5+) =0 D YA A DIY |
Solve the equation3-x) (5+x) =0

U 6 HHIHRU (2x- 5) (3x-4) = 0 P el T PIY |
Solve the equation ¥ 5) (X-4)=0

Y 7 (x+7) (x5 =0F x BT AfHaq GE A T BN ?
What is the greatest correct valuexah the equationxt7) (x-5) =0 ?

YT 8 THIBNU X (x-2a) =0 H x BT AN M BN |

Solve the equatior(x - 2a) = 0 Find thevalue of x

U3 9 x2 -7x=0 DI B PIY |

Solve the equation?-7x = 0.

e 10 FefoaRea wfiexor @ g5 @Y -
(3x +4)2=225
Solve the following equation :
(3x+4y = 225

U 11 FHIHRT B DIfOY
(x-3)2=64
Solve the equation
(x-3)°= 64
43



12

13

14

15

16

17

18

19

T iy ¥ s AR
10y>=11y +6

Solve by formula method :
10y? = 11y+6

frfoiea aflexor @ g3 Y gRT &1 @ifog @ —
15x -
Solve the following equation by formula method :

2
15x - —=-1
X

e 102 + 41 + 21 = OB & PINY |
Solve the equation, ¥6+41x+21=0

THHROT X2 - 3x - 10 = 0BT BA PO |

Solve the equationg?-3x-10 = 0.

frafafaa wfiaxor @1 & ?rﬂﬁm
I+ 2X-5= O;
Solve the equation : x3+2x-5=0

e TR B x @ A9 @ o A -
J32 - 2+1=

Solve the following equation :

V3X*-2+1= X

W 212 & e @ w9 R gR s AR

XX+xX 2
Find the roots of following equation by formula method :

2x+1 3
X2 + X 2

X x-1 13

e = S= @ A Y @ g AR

x-1 X

: -1
Solve the equatlonx%fxT ZE by formula method.
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20

21

22

23

24

25

T i & g R :

X T | Sd BT od

V2X2 = 2x+1- 2x+ 3= (

Find the value ok when

N2XP = 2x+1- 2x+ 3= (

frfofad ¥Ry & x @ 99 @ o g1 PR -
\/m+2=x

Solve the following equation for the valuexof

NX+4+2=x

TP "l 3R SED gaH BT ANT 1747% | H&IT Fd BRI |

: : 17. ..
The sum of a number and its remprocailstlnd the number.

U IE M B W G J 10 fEH/Her gfg R 9 W) T8
800 fF M & T 7T & § 4 Hc HH T ol 8, SHPI QWY
oA T DIG |

A passenger train takes 4 hours less for journey of 800 km., if its speed
is increased by 10 km. per hour from its usual speed. Find its usual

speed.
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UE 26 T AN WHd G&N T o {7 awif &1 AT 221 7 |

Find two consecutive natural numbers whose squares have the sum 221.

UE 27 < &R BT AN 15 2| I} ITb Fopdl BT AN %E‘ra’r
HEarsl | HIg |

The sum of two number is 15 and the sum of their reciproc%a‘ihad

the numbers.
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sms -3
Unit-3
W eftmen

Quadratric equation

THIHIOT B DI -
(Solvetheequation)

U 28 (x-3)°=64

U 29 (3x+4y = 225
T 30 (3x+7¢ =0

U 31 [xHatb)P=0
e 32 (x+7) (x-9)=0
¥ 33 (11+x) (13+x)=0
U1 34 (4x-7)(3x-4)=0
U3 35 x(x-3p)=0

U 36 x2-4x+3 =0

UeT 37 y?>-16y =0

U 38 x*-3x-10=0
e 39 x2 =x+90

U 40 15%%+x-2=0
T 41 x(x+1)=0

U 42 6x2-1X+6=0
U 43 x*+1x+25=0
U3 44 4x°+4x-15=0
U 45 6x°-11x-35=0

U 46 X°+2x =24

47



fafaRad @fievol & GERY ¥ 8a HIT |
(Solveby formulamethod)

U3 47 5¢ -7x+2=0
U3 48 x? -4x+3=0
U39 49 2¢¢+3x-2=0
U 50 3%- 4x4=0
U 51 3¢-x-1=0
e 52 213 +15=0
U3 53 2+ 11x-21=0
¥ 54 10x*=11x+6
U 55 15¢+x-2 =0
U 56 15+ x-2 =0
e 57 x(3x+8)=3

U3 58 4x*-8x+3 =0

60 X x+1_34

Xx+1 X 15

61 X x-1_13

x—-1 X 6

X+1 X 3

U3 62 —t—=C
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frfeRaa wfiaxell @ of wfieul ¥ gaHa e 8 DIfY -

Solve the following by reducing then to quadratic equation

U3 63 X*+26X+25=0
U3 64 Z-10249=0
U1 65 Z-132+36 =0

9% 66 Oy*+ 20+ 29y

3.1
U9 67 y 2

3
U3 68 Zx—;=5
U9 69 3y+i=2

16y

U3q 70 2x+£:9
X

| 71 x4
YT 72 J217-x=x-7
R 73 V3% -2+1=

U 74 J2X+ 9+ x=13

ye 75 fa=folRag oof wfiexor @ ffdwex sma sifsie —

Write the discriminent of the following

() X4x+1=0 (i) 3x+2x-1 =0
(i) 4x*-ax+2=0 (iv) X*+x+1+ =0

(v) 3x-2/2x=2/3=¢(
(Vi) x*-4x+b =0
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e 76 WA difog & Frafoled af fiewon & € e afievon
@ o arafds E 1

Determined which of the following quadraritic equation have real roots.

() 2¢+x-1=0 (i) 3*+2x-1 =0
(i) ¥*-x+1=0 (iv) X>-4x+4 = 0
(V) X245x+5=10 (V) 2¢+5x+5= 0

e 77 frefaRed eiiewol @ @ 79 9@ oifey fa< uftrenfia s
R T gHieRer o qrdfas 8§ |
In the following determine the set of p the values of p for which the
given quadratic equation has real root

() pxe+4x+1=0 (i) 2¢+3x+p =0
(i) 2x-px+3 =0

ue 78 A @iy & Feafafea o wiiesol @ qa aafds & &
T8 3k Ife § o 9% w IR |

Find the sum of the product of the root of the following quadratic

equation.

() X*+5x+5=0 (i) X*+2x+4 =0
(i) 6x*+x2=0 (iv) +12%x+9 = 0
(V) 245 /3x+6=0 (V) 3x*+2,.5x5=0

yeq 79 frifaRead o°f wlioxol @ ol &1 INha AR [oAGA Fd
DY |

Construct the quadratic whose root are given below :
() X2+5x+5=0 (i) 6x%+x-2 = 0

(i) 2x+5./3x+6 =0 (iv) 3x*+2,/5x-5=0
(V) 2+x-1=0
50



U 80

U 81

U 82

T e §91sy e o fFeafafeaa @

Construct the quadratic whose root are given below :

(i) 3-3 (i) 2,22,
(i) 3,-2/3, (V) 3+3,3-/3,
2++/5 2-/5

(V) 3+7.3-47, (=52

T Fexer §913Y R @l 31 ahd iR o fAfafEaa

K

() I = 6; YuHmHd = -16

(i) IS = /3 YOHHA = -6

Construct the quadratric equation whose roots have the sum and the
product given below.

() Sum=6; Product=-16

() Sum = /3 Product= -6

IR asRc W & 5 o whero  ax®-5x+c=0 & HaAl @
ATher AR PABa dFf & 10 o adR ¢ I AR |

If a and c are such that the quadratic equai®-5x+c=0 has 10 as
the sum of the roots and also as the product of the roots find a

and cC.
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Ueq 83 AR I WU X+px+4=0 &1 TH e 2 B o T YA
T AR p &1 AW N T ARY |

If one of the roots of the quadratic equatiospx+4=0 is 2, find

the other root. Also find the value of p.

ye 84 fafoRag wfiaxol § p 3 &6 a9 wa @iy s fd Ry
BT B A TR 8
(i) 3-5x+p=0
(i) 2px>-8x+p=10
In the following, find the value of p so that the given equation has equal
roots.
() 3x-bBx+p =0
(i) 2px>-8x+p=10

ged 85 AR o AR B A W@ ax+bx+c= 0 A 8 @ FAfeRed &
HE =PI
() o+ p* (i) a*+p
..o B
(i) E+a
If o andpare the roots of the quadratic equatioxt+bx+c= 0 then

find the values of :

() o+ B> (i) o%+p°
B
(i) %Jfa
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UeT 86 AR o AR BT FHHRU x2+3x+2= 0% qA & A a2+ p2 & AN
A PIIT |

If o andp are the roots of the quadratic equatisr3x+2= 0 find the

values ofa?+ [3?

e 87 AR o, P AR 6x+x-2= 0D HeA B %”fgl @ &1 AE T
PIQ |

If o B are the roots of the equationx*6x-2= 0 find the values of

1 1
i

a B

Ue 88 K @ WM WA $IOY IR TN ké+2x+3k = 0 & @l &l
ANTHA TG OB aRIER B |

Find the value of K if the sum and product of the rootsxéf2«+3k =

0 are equal.
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#Ad SY MWW Wa (Short Answer Type Question)

U+

89

90

91

92

93

94

95

96

TGO %2 - 4x +1 =0 BT &I fAfdmdR Fa difog |
Find the discriminant of the equatigtvix+ 1 = 0.

TNANROT 32+ 2x -1 = 0 D bl fAfdaaax si1a PIFAT |

Find the dicriminant of the equatio®®32x-1 =0

qif iR 9915Y R/ i &1 Ihd 9 AR UGS 20 B
Find the quadratic equation, the sum of whose roots is 9 and the
product is 20.

faema afieRyr TegY R 99 3, — 3 £

Construct the quadratic equation whose roots are 3 and -3.

frfafaa fga @i @ qal & INTea IR FBA A
DIFY
X*+5x+5=0
Find the sum and product of the roots of the quadratic equation.
X*+5x+5=0

FABOT 2%+ X -1= 0 @ HaAl T ATh AR TGS A4
PIFIT |

Find the sum and product of the roots of the equation :
2+x-1=0

feara afiexor qagd R gl &1 aNThA 6 AT OB
—16 T |

Construct the quadratic equation the sum of whose root is 6 and the
product is -16.

feama wiexT 9958 e Tl &7 IR 3 TR OFHa—6
2 |

Construct the quadratic equation the sum of whose rogts snd the
product is -6.
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97 GHIGRU 6x%+ X -2= 0 & H@l BT ANT S DY |
Find the sum of the roots of the equation :
6x*+ x -2=0

98 ;R AT & Hl f2,2/2 B A FHIGROT T BIY |
Find the quadratic equation whose roots gre/ 2.

99 T HHGRY §AISY oD qA 3+,/3, AR 3-3 T |
Find the quadratic equation whose rootszg/3 ands- /3,

100 IR a,f FHERT 6X47X -3 =0 D o § W aHBH AN oG

PIQ |
If o, be the roots of the equatior’67x-3=0, Find the value ofi?+[3?

101 I Px?+4x +1 =0 @ 9o qafd®d 8 @ P & A &4
PIQ |

Find the value oP if the roots of the equatiorxR4x+1=0 are real.

102 I 2X%+px +3 =0 & A7 IRAfa®d & @ P BT AF FG
PIQ |

If the roots of the equation2-Px+3 = 0 are real, find the Value of P ?

103 IR q, B fa@ @@ ax>+bx +¢ =0 & A aRafds 8 @

104 fferRed Efiexor § p &1 99 o9 i 9 & aiaRor
D A R 8
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ueq 105 I} fgamd ax®+bx +c =0 & HaT a &R B A o*+B @ AN =G
P |

If a andf3 are the roots of the equatiox-gbx+c = 0. Find the value of
u3 +B3

ueq 106 AR fFam@ 2xX+px +4 =0 &1 & o 2 & o O 9§
RN AR p @1 99 A T PR |
If one root of the quadratic equatior*2px+4 =0 is 2, find the other
root. Also find the value of p.

g3 107 afT wHdHwor 3ax?+2bx + 2c :Oa%agvru,ﬁs‘r?h§+% @1 A4

A DY |
If o andp are the roots of the equati@ax®+2bx+ 2c = 0, Find the

o P
value of5 *t—
B o
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SOE -4 @ 5
Unit-4& 5
fsfafa
Mensuration
g foee yz—/Objective Question
dqe - A R W oER RBew & @@ S ghRw
Short out the currect ans from the following given four Answer.

Y 1 GHEIg BR[O &1 Y@@ O 16 cm @ @ &A% 8N |

Each side of an equilateral triangle is 16 cm then its are is -

(@) 48cn? (b) 32cnt
64
() 64/3 (d) ﬁcmz

U 2 [P da9 P gy (& Mol -1 @ 5699 DI IRacd= =18
BRI |
A cylinder is melted and a sphere is formed out of it then their will be no change

in the value of it.

(@) < (b) FOT g
Litral Surface Total Surface

(c) 3 d) 1 A=
Value All the above

e 3 Af 5l o A SIS 4 cm & SR SHD MR BT JE 6 ® A

SHBI S BRN |

The height of tone is 4 cm and diameter of the base is 6 cm. The surface area
will be

(@ 4mcm? (b) 6TICNY

(c) 12Ttcn? (d) 15T1cn?
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U3 4

U 5

U 6

U 7

U 8

3 W B gl onf Mem &1 el s R |
The total surface area of a hemisphere of radius 3cm is
(@ 27T1cny (b) 18T1TCN?
(c) 3mcm? (d) 36T1TCN?

&M a7 &1 I 27 cn? T A 9w Rt @ awrg Erft |
The value of a cube is 20m® |, then the length of its diagonal is

(@ 2.3 cm (b) 3.3 cm

(c) 3x3cm (d) J2cm

UPp B & igls disls b 9ais 6m 4m.Td 5m. & o IR &)
el BT GAGA BT |

If the length, breadth and height of a room are respectively.

(@) 50n? (b) 100nt

(c) 15n? (d) 148nt

AT Bret &1 aawa Aeem & 93 8

The formula to find the are of a right triangle is

(a) \/54612 (b) Ja?+p+¢
© 2 @ 7 (axb)

&t g @vs @ FABA T DA BT GA ©

The forumla is to find the area of sector of a circle is

Q Q 2
(a) ﬁ)ﬂ:r (b) ﬁ)Zﬂ?r
Q Q
© 360™ (d) 350™"h
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U 9 Ud Mol P ANAT SUb T 89 & GFHASG A9 & S¥ER ©
S EdEC NS
Equal value and surface area of sphere then the diamter will be
(@) 12 unit (b) 9 unit
(c) 3unit (d) 6 unit

UeT 10 ¥q BT AFad s8R |

Volume of cone is

(@) %Tﬂ‘zh (b) %T{ﬁh
(c) Tr*h (d) Z*h

U 11 A} T T BT g W@ 154 cm? ® A6 A BT

The surface area of sphere is 154sq cm then volume is
(@) 1386¢nd (b) 138.0 crd
(c) 138 cni (d) 1365 cm

U 12 TP aR @ o geex e fieg @ e g § gfg

gl |

The radius of a wire is decrease one third of its original then the length will be
(@) 2T (times) (b) S3IAI(times)

(c) 6TFAT (times) (d) 9T (times)

e 13 dfe g9 @ B IRRY IR o @1 R 74 W T A g BT
SAGA BT BN |
The difference of circumference of a circle and their radius is 74cm.Then the
area of circle is
(@) 6l6cnt (b) 5l16cnt

(c) 74cnt (d) 680cnt
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e 14 AR Tq @ SA% 5096 B A WY A THDI AFAT §§ GRRT |
The increase of height of came is 50% then the volume will be
(@) 46 % (b) 48 %
(c) 50% (d) 52 %

U 15 TS GAGIg FRS1 @ 9o 16 ¥ & @ Brqe @ S=1E erft |
The side of equilateral triangle is 16cm. the height will be
(@) 24cm (b) 4. /3 cm
(c) 8.3cm (d) 5.3cm

e 16 TP wHaig Bge @ aRAm 12 Aiek © O SHaT &9%ed 8N |
The perimeter of equilateral triangle is 12 m the area will be
(@) 36n? (b) 4. /3 m?
(c) 6n? (d) 26n?

e 17 TP 909 &1 ATH 14 VA @ SHS! SOl3 24 QW © < 99 Bl
IR B |
The diameter of a cylinder is 14cm and height is 24 cm then the volume will be
(@) 36n? (b) 4.3 m?
(c) 6n? (d) 26n?

U 18 TP daq @I Sais 40 JH 2 3R uRfr 66 W & O da9 @
G BN |

The height of a cyliner is 40cm and their circumference is 66¢cm then the value

will be
(a) 10500cm (b) 12000cm
(c) 4000mm?® (d) 4410mm3
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U 19 U UG b SA 12 G 2 O IR @ Broar 35 W 2 1 wg

B IS B |

The height of a cone is 12 cm and radius of the the base 3.5 cm. The surface
area will be

(@ 107.cnt (b) 98 n?

(c) 137.5cnm (d) 158.5cm

ge 20 & Mo 3 Bowr 42 O 8 O SUST 9% IS BT |
The radius of a sphere 4.2 cm then the surface area will be
(@) 212cnt (b) 221.76 cm
(c) 1liécnt (d) 225cnt

weq 21, Harg By ¥ o o9 g far o1 daar 2
In equilateral triangle the altitude in given by :

3 2

@) ;a (b) ?Za

©) \Ea (d) \Ea

U 22. 99 B TS S BT S Fhall § |
Hength of the are is :-
@M  (b)3md (c)210 (d) 210
360 180 180 360

U3 23 Y AU DI A4y S DI, S 99 g @ b= W 60° I@T © AR
foraar e 21 w9l 2
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U 24.

U 25.

U 26.

U 27.

The length of ther arc of the circle of radius 21 cms, which subtends an
angle 60 at the centre :
(a) 44 cm (b) 22 cm (c) 20 cm (d) 25 cm

T R 198 fhH. /€T & I I Foldl & | SAD URT &7 AT 0.5

Hex g | 1 99y, ufedn Ue e # b "adR e |

Anauto is mouing with velocity 19.8 km/hr., and the dicemeter of the
wheel is 0.5 m. then find the number of revolution. Complete in 1 min.
@200m. (b)210m. (c)250m (d) 198 m

gl B Do UR 70PHT DIV g1 ©, Td ged Dbl (Foar 18 WAL §, Al S
=1 @vs &1 A% BRI 7

Find the area of the sector of a circle which subtends an arfgletiié
centre, the radius of circle being 18 cm.

(@189 cm (b)198cm (c)178cm (d) 187 cm

I8 FHIR Yehald oD 1T Held d PR 8l dhedldl o |

A rectanglular solid bounded by three paisa of square plane faces are
equal :

(a) &4 (b) & (c) (d) smad

(@) Cuboid (b) Cube (c) Square (d) Rectangle

T AR & gl DI, @ DI HA: 6 AHL. TAT 4 T, B, fUgarax uh

ST O g1 AT € | g9 °F DI AR BT ?

Two iron cubes with edges 6 cm, and 4 cm are melted to form a bigger
cube. Then the volume of this cube :

(a)216 T HH. (b) 64T HH.

(c) 280T9 . (d) 2259+ .
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(@) 216 cm (b) 64 cni
(c) 280 cm (d) 225 cm

Y3 28. T HUF Bifeu—

1. 99 P YD Hold PR B & |
2. 3@ BT YRHHT ST BT 2 |
3. doF ® 3] P FHIAN AT BIc Udh 3MId- el 2 |

Choose correct statment-

1. All the faces of a cube are squares of equal area.

2. Aconeis a solid of revolution.

3. Cylinder section by a plane paralled to its ascis is a rectangle
(@)i&ii (b) i &iii (c) i &iii (d) o 9T T |

(@)i&ii (b) i &iii (c) i &iii (d) all
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SPe 4 U@ 5
Unit4& 5
(a=faf)

M ensuration

g @ §d Il W& Short and long Answer type Questions
Y 1 U 99 BT IAAH 1728 O O 8| SHD BR B oIy SaRi |

The volume of a cube is 1728 cu. cm find the lenght of its edge ?

U 2 A TP §9 @ NI 10394 & A SHP TAD PR DI TEIg
qara |
The diagonal of a cube 19,/3 c.m . find the lenght of its edge. ?

U 3 TP ¥ B AP g3 W B SEST WUl U8 S| P |

The diagonal of a cube g&/3 c¢.m. Find its whole surface ?

U 4 UH qAI g9 B GOl U8 T PR GE(P do P Hars 20
N R = 149 7
Find the whole surface of a circular cylinder whose heightis 20 cm and
diameteris 14 cm.?

Y 5 TP UAM B a9 BN 3 W 4 & &R 12 & | s Aol
o w9 aar erf ?
Three edges of a cubold are 3cm. 4cm. and 12 cm. What is the length
of its diagonal ?

e 6 dfe TP T B PR O A X & WY Al SHDT AR b
TET B S ?
If the edge of a cube is increased there times, how many times will its
volume be increased ?
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10

11

12

TP I BT MR 5 WX qo &1 o1 g A 399 ga=m & urh
grar & R &5 R areme § R "9 wHe: 10 Hier, 8 HieR
2, O U TIoTE B TR R e ?

The base of a tank is a square of side 5 metres. Its capacity to contain

water is the same as that of another tank whose measures are 10, metres

8 metres and 5 metres. Find the depth of the first tank ?

TP o9 @ IER & f3roar 2:8 9 3R 72 W 2| 49 @1
gl goEa |

The radius of the base of a cylinder is 2 .8 c.m and its heightis 2 c.m.
Find the whole surface of the cylinder.

TP 09 BT A B9 [ 3R SR B 8% 4 it [ 2
9% U8 HId Doy |

The volume of a cylinder is 45 c.u . cm and area of its basetsq 4
c.m. Find its curved surface .

77 89 9 99 # 35 ey @ @1 feah d=g @1 ar
i o1 ddar 2|

What will be the length of the wire of diameter 3.5 mm that can be
drawn from 7-7 cu. cm gold ?

TP O P AT 512 T A B THD GOl Y8 BT TGl Rl
faedf @ #IRRA |

The volume of a cube is 512 cuble metre. Find its total surface and
diagonal.

UH O P A 125 O AleX & | SHSHT 97U IS S a9 |
The volume of a cube is 125 cuble metere . Find its whole surface.
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13

14

15

18

19

TS qa9 & A 20 T 3R AR & &% 4 At 9
21 @ SUST IHYS TG B |

The volume of a cylinder is 20 c.u. cm and the area of base sg 4
.c.m. Find its curved surface.

S NG 999 P A-AT o piforg foraer Sarg 40 d
IRk aRfr e6 A 2|

Find the volume of a circular cylinder whose height is 40 cm and
circumference is 66 cm.

UF S T AN 14 0 B I8 B UM F T 2| 3O AR AR

BT UF 99 ST ST 809 U @ Sdg 8134 i 98 W 2

¥ B PR B THIE AA b |

The diameter of cylinder is 14cm. Its some part is filled with water. If an
iron cube is dipped in it, Its height is raisﬁbl% cm. Find the edge of the
cube.

14 T T JOTER W B Aol B AerE 08 WA 8| SHST
At =g 26 & 2, O a6 el H fhom fear gig oh

(1 9 W F1 IR = 114 Um)

The thickness of a cylindrical glass pipe of length 14cm is 0.8cm. Its
internal diameter is 2.6cm. Find the weight of the metal used in making
the pipe. (The wt.of 1 cu.cm of glass - 11.4gm)

A o1g & T B BR 34 T 5 W T | TR RAgaR @ T

' 4 uRafda far mar 81 99 u9 @1 US &5%d W9 B9 |

The edges of three meteal cubes are 3.4 and 5cm respectively. They are
melted to form a single cube. Find the surface area of the new cube.
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U 20

U 21

U 22

U 23

U 24

TP 31 99 BT GUT U 231 O /W B | ST 9% IS, HRul
S $T AN ©| S BT AT o BN

The total surface of a solid cylinder is 231 sg.cm.Its curved su%fhace
of the whole surface. Find the volume of the cylinder.

Ife St o™ &1 s o N "o\ Bl @ &F%d Rl
@ o g & 5 V2= ABC.
If the volume of a cuboid is V and the areas of its three adjacent faces
are A,B,C respectively, prove that
V2=ABC

U& dce ¥ 5 Hiex ol 2 Wiex drel R §{o diel a9 @
AR PR ADE! BT CHSI DICT AT B | TS A9 5 &9 Hex
23 g H ¥ 5 MeX x 2HeR x 0.05WR & fhaw ISR

e HIEHR Fdel o1 wahd F |

A wooden log is cut in the form of a cuboid of length is 5m, width 2 m
and certain thickness. Its volume is .5cu.m. How many rectangular planks
of size 5m x 2 m x 0.05 m can be cut from the cuboid ?

T$ SN UH ARG GANR SChad (©FM) & ISR B

2| gEH g 20 WieX 71 IR Semem # 9 18 fhariier ol
e form oo @ 9 BT wR 15 /W A Fer Srar 2
TR H Ao o w0 (1 fFariey = 1 #ew)

A reservoir is in the form of a rectangular parallelopiped (cuboid). Its
length is 20m. If 18 kilolitres of water is removed from the reservoir , the
level goes down by 15cm. Find the width of the reservoir. (1 kilolitre =1
metre)

U oMK Y6 Bl G0 US 84 aw AW &) Al g @S

5 W0 AR 92 I 8 AW B A AeE T B |

The whole surface of a cylindrical cube igB8d.cm. If its length is 5 cm
and external diameter is 8 cm, find its thickness.
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U 25

U 26

U 27

U 28

U 29

Y 30

Uh g §a9 DT A-a9 o b foret Sarg 40 ¥ sk
R 40 Jh 2

Find the volume of circular cylinder whose height 40cm and circumfer-
ence is 40 cm.

Th d9 BT AR B Bowr R S8 § 34 &1 U 21 AR
SHST HHYS 384 TEF WA B W SHST AR FAT BRO ?

The ratio between the radius of the base and height of a cylinder is 3 : 4.
If its curved surface is 384sq.cm, what will be its volume ?

o SOTOR U ST AT 14 94 2| 98 B U § W B | THDBI

11 9 SR G dlg BT o7 g9 W TN BT Gag fbaet Sl

g g |

The diameter of a cylindrical bucket is 14 cm. Its some part is filled with
water. IF a cube of edge 11 cm is dipped in it, how much the water level
will be raised ?

9O BT THHYS YU IO U§ ARG HIA DY, IR DT A

14 N IR 9uE 24 N T |

Find the curved surface, whole surface and volume of a cylinder whose
diameter is 14 cm and height is 24 cm.

frd) W@l o9 BT 98T ghdd 726 T WY, I dshael 484
T A TAT SAg 11 AW B, O SEH! ATy TG DY |

The external surface of a hollow cylinder is 726 sq.cm and its internal
surface is 484 sqg.cm.lts height is 11cm. Find its thickness ?

SH YEOR T & AER o BFear o s Rrad 1386 e

g A WHAl T R et dErg 27 Wiew § |

Find the radius of base of a conial tent which can contain 1386 litres air,
and whose height is 2.7 metres.
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31

32

33

34

35

36

Wﬂﬁmwgnaﬂﬁ% | SHBT FT AN fear
B ?

4 . :
The volume of a spheretésn cu.cm. What is its diameter ?

U 9o U4 TP Ty B HARAT Yq AER B Fodr R 7|

SIS ATl W RT IFUT 7§ ?

The heights of a cylinder and a cone, and the radii of their bases are
equal. What is the ratio in their volumes ?

Uh YqAPR T A 352 97 HicR HUST o1 8| IfX O & 3

R @ B 35 dicy 81 o Swa! fdfe S9 s IR |

A conical tent requires 352 square metre cloth. If the radius of its base is
3.5 metre, find its slant height.

45 9 & 3R 4 9 I 9l 99 9 6 A A @ e

Mt §9 S ¥ & ?

How many spheres of 6cm diameter can be made from a solid cylinder
45cm long and 4cm in diameter ?

U O Ug Sars 10 9 AR A 20 9 B | SN AR 2

¥ e e A M R W1 GHd ¥ |

The height of a solid cone is 10 cm and its diameter is 20cm. How many
spheres of 2cm diameter can be made by melting the cone ?

S IS ¥ ds g BT AIGT S DI G SH €9 F BT o
Haar & ey o 3 W awi B

Find the volume of the biggest cone that can be formed from a cube of
side 6 cm.
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37

38

39

40

41

42

43

dfd @& TP el & I8 196 T WAl B | U ©1g BT AR A
B |

The surface of copper sphasel96Gtsquare cm.

dfd & U@ SN Wig @ el Sad 9 W B aeR 3 9
o &1 U@ SN el SR T 2| UG B OIAMR @ Hean
EICECE

A solid copper cone of height 9cm is melted and a solid sphere of
radius 3 cm is formed. Find the radius of the base of the cone.

S9 YE@eR a9 @ e Sag @@ et ? fer awys 352
Tt f R IR &1 @™ 7 W B

TP g BT A™AT 380 TTEHA G B SR SH@ HaTg 15 WA T
o fde Sa @ B s g |

The volume of a conical tent is 380cu.cm and its height is 15cm. Find
its slant height and radius of the cone.

S ¥ B THYS TG DING SHa 12 G 00 AR BT A

7 ¥ B

Find the curved surface of the cone whose height is 12cm and diameter
of the base is 7 cm.

TS g BT Brear 3 ¥ iR fode SaE 5 & & df swal
$AE AT P |

The radius of the base of a cone 3 cm and its slant height is 5cm. Find
the height of the cone.

2 9t 3o areft 64 Mol & NedeR Te ST MeT I9R—T
T 2| S M B Brear s eI |
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U 44

U 45

U 46

U 47

U 48

A solid spheres is formed by melting 64 spherical shots each of radius 2
cm. Find the radius of the sphere.

Ify viqg o ST 28 AW dm Brar 21 W T @ A
fAerferg |

The height of a cone is 28 cm and the radius of its base is 21cm. Find its
volume and the curved surface.

U g & ER ST SF%bd 770 T G R THYS 814 a7 T

2| SHST A TG PG |

The area of the base of a cone is 770sg.cm and its curved surface is 814
sg.cm. Find its volume.

4R @ fai o9 4 et oR 11 990 2. 05 O N o e
M B 91 o ¥dhd & ?

How many spherical shots 0.5cm diameter can be made from a cube of
lead whose edge is 11 cm ?

TF g B Has 28 A &R SED MR H B 21 W B

YE BT THYS, T IS AR MEH wd PR |

The height of a cone is 28 cm and the radius of its base is 21cm. Find its
volume and the curved surface.

TF el S I TAGR S el §911 ™1 | Af 31 el

FT IAT @&l 9N S AT & G 8, O DI 8T &
araRe Froarell &1 Igurd e B |

A spherical shell is melted and a solid is sphere is made. If the volume of
solid sphere is equal to the volume of hollow space of spherical shell,
find the ratio between external and internal radii of the shell.
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U 49

Y 50

U 51

YIq 52

Y 53

4 9N I D [P AGNAHR TRIR 2 Ol /g & ) ag @
gogel 81 UIRde M § Ygad USRf @1 IAH A PG |

In a hemispherical paper-weight of diameter 4cm, there are two bubbles
of air of diameters 2mm. Find the volume of the material used in con-
struction of the paper weight.

I T Tq BT AGIY DT o THUS C, IRV e Sarg

@1 R @ a8 @ g i e

If a is the semi-vertical single of a cone, C its curved surface V its
volume , | is slant height and r the radius of the base, then prove that
(i) C =r11r? coseca

(i) V= %Tﬂ‘z cota

8 Wl &N &1 T Mol (@ doieR a4 § forad §8 uril
2@ OIAT §| SeEIPR g9 & ™ 12 ¥ 7| Aaf Mem 9

# gl TRg §¥ W1 & O Ul §a9 A fhaar S gem ?

If cylindrical vessel of diameter 12cm is partially filled with water. A
sphere of diameter 8 cm is dropped in the vessel. IF the sphere is dipped
Is completely in water, how much the level of water will be raised in the
vessel ?

U6 9@ @ MR & &A% 9 I Hiex o= 9hys 15w #

2 | SHST AAA TG BIRG |

The area od the base of a coneriss§.metre and its curved surface is
15msg.metre. Find its volume.

g fodt Wi d TR h, THYS C IR I v E O Rig w0

f&

31tVh3- C?2h2+9Vv2=0

If h, C and V be the height curved surface and the volume of a cone,
prove thaBrvh3- C2h 2+ 9v2=0
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U 54

YT 55

YT 56

U 57.

Y3 58.

YU 59.

Y3 60.

A9 o T B I MR R A 4 B @ &1 i 4000 &
YEPR I B [ AR Q) 21 IR I A TwE FR >

AE @ WO & O A § I B TR T H |
3TVh3-C?2h#+9Vv2=0

4000 spherical drops of water, each of which is 4mm diamter, are dropped
ina conical cup. If the depth of the cup is equal to the diameter of its end,
find the depth of water in the cup.

fodt o wY g & IR o Bw 3R SaE #§ 512 @
U ® | Af SHST A 2512 9 W BT A Sadr wegf

S o BNl |

The radius of the base and height of circular cone in the ratio 5:12 and its
volume is 2512 cu.cm. Find its whole surface

fodl o g g @ S &R IR @ Bowr # 43 @
YU T| A SHPT AT 9611 B WA B AT SHHT WYY IS

o BN |

The height and radius of a right circular cone are in the ratio 4:3 if its
volume is 96t cu.cm, find the whole surface.

T 3RST BT &Il 48 T2 © | SHDI TR 12 L. © | SABI oY &d
ST DI |
The area of a triangle is 48 &rtts base is 12 cm. What is its altitude ?

T BT IRITT 1T HIFTU 579 fahort &1 ofarsat &1 IRT 144 491 2 |

Find the perimeter of a square the sum of the lengths of whose diagonals is 144 cm.

U FHAYS & [dB0T 24 L. 3R 10 THI. T | SABT &Fhel IR IRAM
ST PIFTY |

The diagonals of a rhombus are 24 cm and 10 cm. Find its area and perimeter.

UF FAGETE FHGIV B3RSl BT &Fwel 200 WP T | TS BT BT SAarg
1A DI |

An isosceles right traingle has area 2008.8fhat is the lengthy of its hypotenuse ?
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Y3 61.

RT 62.

YU 63.

YU 64.

Y3 665.

Y3 66.

U3 67.

A QU U Sral @ eshel IR URATT ST HINTY | T 8l axT6R
27 T URET SRR & ?
Find the areas and perimeters of the rectangles given below, Are the areas are same ? Are

the perimeters ?

6cm 4cm

8cm 12 cm

& g DI SFABA 2464 I T © Al SHD! R ST B |

The area of a circler2464 sq cm. Find its circumference.

& gad @ IR ST difTg, ! 397 17.5 390, 2|

Find the circumference of a circle of radius 17.5 cms.

I god dl Froar g1d aifrg, et aRkfer 23.10 HieR 7

Find the radius of the circle whose circumference is 23.10 metres.

S g BT &Fhe Ad BRI, e Hear 4.2 L 2

The radius of a circle is 4.2 cm. Find its area.

& AIEfhd & U2y &I 3T 42 T 8, 400 T FFHR T H I8
fhal 0 T3 M|
Theradius of the whell of a cycle is 42 cms. How much distance will it cover is 400

revolutions?

N B A A T TSl 14 Hiex ofdl YRA W <1 g3 2| I, I8
fod Fe™ B TNT TR bl |

In a grass lawn a horse it tied with a rope 14 metres long. On how much area can it graze

the grass ?
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Y3 68.

YU 69.

U= 70.

U 71.

U 72.

R 73.

U 74.

T g HE| &1 3T 35 HIek & | Udh dTedhl 39D aRI 3R 5 b,
gfd =T &7 aidd 9 10 IFh fha=l X | T HBIT?

A circular field has a radius of 35 metres. In how much time will a boy, walking at the rate

of 5 km per hour, complete ten rounds of the field ?

S gd @ e g1d ey, Rt aame a8 € R {6 66
Hlex id qorr 21 Hiex drs 37 o |

Find the radius of the circle which is equal in area toa rectangle 66 m. long and 21 m.

broad.

TP ged D (30T 3 HIeR &, TN g &1 31 18R, e eawd
UEel 9o & &AWl W 9 AT T |

The radius of a circle is 3 metres. What willbe theradius of the circle whose area is 9 times

that of this circle ?

U il HST BT &hal 2464 TR & | §9d aRI 3R IR P IR TR
A H fhadr IR o em?
Thearea of a circular field is 2464 arc. How much wire will be required toenclose it by four

rounds of fence ?

I JATBR ART BI drelg SiTd DIoTY, ST arar iR ofd: aiRferl &
HTY HHT: 110 e 3R 88 Hiex T |
Find the width of a circular path which has external and internalcircumference of 110

metres and 88 metres respectively.

U IR A1 BT 3MARS TR 440 1. & | 41T 1 Argls 14 1. & | AR
& A gl BT AT S DI |

The inner circumference of a circulartrack is 440 m. The track is 14 m wide. Find the

diameter of the outer cricle of the track.

TP 7 HIeR A FSH Uh IR G Bl B8Rl 8 | a3 o gRfer 352
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U 75.

U 76.

R 77.

W /8.

dex 2 | 91 BT &% Sd BT |

A road which is 7 metres wide surrounds a circular park whose circumferences is 352

metres.Find the area of the road.

F=IfRad geai # A & ofds qAT RIS BT &F%ha S dITg,
Ife =T gRT Beg W AIRT BT oI 719 T fBrear fe=forRad 2—

Find the lengths of are and areas of the sectors if the angles subtended at the centre and the

radii are as given below :
(@) 60, 6cms.

(b) 90°, 10cms.

(c) 60,14 cms.

(d) 60, 10.5cms.

Pl BrourEe o1 89%a 1540 9 QH. 8| 98 P U 50° BT BT
ARG HRAT 8, AT ged B AT A1 BI |

A sector of a circle subtending an angle df&Qhe centre, has an area 1540 sq. cms.

Find the radius of the circle

f=forRad dars dies IR Sdrs dldl &9 & Aol &1 of4rs =d
DINTT |

(@) <ars = 159 | dIsiE = 1299 $Hdars = 9¥H!

(b) <arg =12+ ,dieE = 9# o =8

(c) <dE =63 ,ders =5 Has =25

Find the lenght of the diagonal of a cuboid having dimension .

(@) Length = 15cms, Breadth = 12cms, Height = 9cms

(b) Length =12m, Breadth =9 m Height =8 m.

(c) Length = 6m, Breadth = 5m, height T8

T g4 B ddlg, dlels AR Halg HAL 12,11 AR 10 FHL g | Ayl
TS5 ST Iy

A cuboid has dismensions 12cm, 11 cm and 10 cm respectively. Find

76



W= /9.

W= 80.

= 81.

R 82.

R 83.

the whole surfance.

FrfeRad ofars @Il iR oS dTel &AMl & [YUT U6 3IR S

ST DY |

(@) <ars =129 ,dIeE =8 $Hars = 109!

(b) aE =12.59 ,dISE =6.29 Hdag =4 |

(c) <ars =8m™ ,disg =3 $Hars =759

Find the whole surface and the volume of a cuboid whose dimensions
are:-

(@) Length =12m, Breadth = 8ms Height = 10cms

(b) Length =12.5m, Breadth = 6.2 m Height =4 m.

(c) Length =8m, Breadth =3m, height =75 cms

I =9 @ BR f=feRad € | S9a |90l g Ud Smaad Sid difoiy |

(@) 69+ (b) 7.59 (C) 2.25%!

Find the whole surface and the volume of a cube which has an eduage
equal to

(a) 6cms (b) 7.5m (C) 2.25 m.

T O Pl YA 125 & HIeR 8, A ISHDI YU Y ST DI |
The volume of cube is 125 cubic meters. find its whole surface.

U 8 @ fAmel @l ofars 103 T § @l Uh Yol &1 dd1e §1d
HIFSTY |

The length of a diagonal of a cube is a/38m. Find the length of its
edge.

IfE a dqrE, baIeTg 3R ¢ HATS dTel TR BT IR V &l 7T HYUT TS

gl Rig dIvY |
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R 84.

R 85.

R 86.

W 87.

If v is the volume of a cuboid of dimensions a,b,c and s its surface area,
them prove that

1 1(1 1 1)
= —4 4=
v sta b c

10 I, PR dTel 2 TT BT MY H S B XET AT 2 | 39 YhR a4 €
1Y BT FYUT IS ST BIFTY |

Two cubes, each of 10 cm edge are joined end to end. Find the surface

area of the resulting cuboid.

TS O T Sl Forsga! dars 15 H1L,AISTE 10 Y. 91 T870E 6 W ©, 9918
ST B | %6, 2,50 @1 &% H U1 B TG B BIAG o1d DI Ife aTa

@) dreTs 4 Hiex B |

A tank, 15m long, 10m wide and 6 m deep is to be made. If it is open at
the top determine the cost of iron sheet, at the ration of Rs. 2.50 per
meter, if the sheet is 4 m wide.

Uh g DI A Heli= Held] ®I e3hel HAST: Xy 3R z¥ | IS &=

HT I V8 A1 g BIRTT b v2 = xyz

The area of three adjacent faces of a cuboid are x, y and z of the volume
is v, prove that ¥= xyz

Udh oo ¥ | 2.3 HI. &dl, 0.75 HI. AIST 3R B AICT g™ & 3MDHR DI
U TAhel BT THSl BT AT & | SHHT MATT 1.104 I & | 3H &4 H

2.3 HI X 0.75 H1 X 0.04 & 3MHR & fha- JMATIBR YeX HICH P

ST Adhd & 7

A teakwood log is cut fist in the form of a cuboid of length 2.3m,width
0.75m. and of a certain thickness. Its volume is 1.1804ow many
rectangular plants of size 2.3m x 0.75m x 0.04 m can be put from the
cuboid ?
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R 88.

R 89.

=T 90.

=T 91

Uh HHRT 7 HI. 4T, 6.5 HI. drel 3R 4 Hex a1 & | 599 38 x 1.4
BT TP Ao 8 2 {1 x 1 W 719 7 O Rasfhal 81 o & 3R &
aRI B TS BT 2 | SHERT 5.25 ® Ui I Hex Y TR F WIS el
2 | g BT ANTd S DITY |

A class room is 7m. long, 6.5m, wide and 4m. It has one door 3m x

1.4m and three windows, each measuring 2m x 1m. The interior wall are
to be colour washed. The contractor charges Rs. 5.25 per sq.m. Find
the cost of colour washing

fFeforRad <1 g AUl A &9 o7 BT 377, I USS AR FYOl IS 1l
U

Jo9 ®I AT 2roan
(a) 209 7 5
(b) 213 10%+
(c) 21 cms 10.59

Find the volume, curved surface and whole surface of a cylinder having
dimesnions given below :

Height Radius
(@ 20 cms. 7 cms
(b) 21 cms 10 cms
(c) 21 cms 10.5 cms

Teh deT1 T ATIT 16 ©F A 3R AR B 3roar 2 T, o b o

ST BRI |

The volume of a cyliner is 16cu.cms and the radius of its base is 2 cms.
Find its curved surface.

T o & MR BT T 2.8 FHI IR HAE 7.3 A 8 | Tl BT YOI
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92.

93.

94.

95.

96.

97.

U3 S ] |
The radius of the base of a cyliner is 2.8 cms. and its height is 7.3 cms.
Find the whole surface of the cylinder.

TUH doT BT AT 20 TIE FHY, 3R MR BT &5l 4 TIIT AHT B
CIESSEZICECISIS NI

The volume of cylinder is 20tcu cms. and the area of its base is 4
Tisg.cms. Find its curved surface.

Td Jeld T a6 5 1000 a1 I, 3R IABI ™G 20 |HI 2, AT IHDI

TS ST BRI |

The curved surface of cyliner is 1000 sg.cms and its diameter is 20 cms.
Find its height.

77 99 A H 9 35 fiell #iex g &1 fhadr ddE &1 aR dEr o
Al § ?

What is the length of the wire of 3.5mm diameter that can be drawn from
7.7 cu. cm of gold.

T da Bl HAlg aAT AR B BT H UM 57 7 | SABT I

550 €1 9HI © | T S @R |

The radius and height of cylinder are in the ratio 5:7 and its volume is
550cni. Find the radius.

Tep gl BT HYUT USS 462 i THI & | 3HD b U3 BT &l=thel YUl IS
P &FTHS BT Uh (U8 § | 99 BT IMIAH ST B |

A solid cylinder has total surface area of 462 sg.cm. Its curved surface

area is one third of its total surface area. Find the volume of the cylinder.

P gl doT9 BT 9187 dh ool 726 99 9HT 3NN 37d dh dol 484 If
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R 98.

R 99.

HHT TAT HATS 11 WA & | IHDI ACIS S B |

Find the thickness of a hollow cylinder whose height is 11cms. and the
external is 11cms. and the external and internal curved surface are 726
sg.cms and 484 sqg.cms respectively.

TUEh WGl do aFl RRE TR Goll & | ST 9189 T 14 SHHIey,
Areg 2 SHHier dor S9rE 20 SHHieR € | 9o & 9Pl gs @ik

SATACAT =l DT |

A hollow cyliner open at both ends, has the external diamter 14
decimeters, thickness 2 decimeters and height 20 decimeters. Find this
whole surface and volume.

TUEh JAATHR <Y BT AY0 TS 84 T AHI 2 | I SHS! @idrs 5 FHI
3R 9= A 8 HHI © AT AICy 9d B |

The whole surface of a cylindrical tube is 8dsq.cms. Find its thick-
ness if its length 5 cms. and external diameter 8 cms.

e 100.S9 ¥iq &1 9% Yo, YU U5 Td IMRIa HIfg, Rrae R @l

15 I 3R =TS 36 9T 2|

The radius of the base of a cone is 15cms. and its height is 36 cms. Find
the curved surface, whole surface and volume of the cone.

¥ 101.39 3 @ ashael S HIoTg et fode Sarg 28 W00 & ToT IR

o B 6 T 7 | (= 22/7).
Find the curved surface of a cone the slant height of which is 28 cms.
and the radius of its base is 6 cmB=(22/7).

U 102.T% 3G & AR BT &F%hel 770 I T4 3R dh IS 814 I I 7 |

SHBT ST ST DIy |
The area of base of a cone is 770 sq.cms and its curve surface is
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814.sg.cms. Find its volume.

103.99 YHEIGR T Bl fcRie SHarg a1 8111, [T 9% IS 352 @ Hiew
3R 3MER BT AT 7 Hex 7|
What will be the slant height conical tent whose curved surface is 352
sg.metres, and the diameter of the base is 7 metres ?

104. 39 YFTHR g & AR DI AT 91 DRI, fSrad 1386 <ilex arg F41
Al & T RNaT Sars 2.7 Hex 2|
The capacity of a conical tent is 1386 litres and its height is 2.7 metres.
Find the radius of its base.

105.Ud e BI AT 380 T8 FHIL B HaTs 15 A & | 3! [Rid Harg
qT BRI S| SN |
The volume of a cone is 380cu.cms and the height is 15cms. Find its
slant height and the radius of its base.

106.T% W@ @I IAMBR & dq H 65 TLa HICY HUST ol ¢ | A @ fadd
TS 13 HIcX & | D! a3 Ud a1 Sd S |
A conical tent is made 6%sq.metres of canvas. The slant height of the
tent is 13 metres. Find its height and the radius of its base.

107.39 §$ ¥ 9 ¥ BT A AT DIORI S IH G 1 A BTl S Fhd]
¥ | R udd o 3 I o dt |
Find the volume of the greatest cone which can be cut of a cube whose
edge is 3 cms.

108.7% ¥id @ f3oar qen forfe ars # rgurd 47 7| If 9% g 792 o
A T vg @ B g Py |
The radius and slant height of a cone are in the ratio 4:7. If curved suface
Is 792 sq.cm, find its radius.
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109.T% diec! & RRI @1 Foar 15 T TAT 5 FH S9@! $HdTs 24 JHI B |
ST aTRar @ Rl ?
The radii of the ends of a bucket of height 24 cm are 15 cm and 5¢cm.
Find its capacity.

110.39 el BT el Y6 iR AR Si1d DIfor, figas F2roam 21 941 & |

Find the volume and surface of a sphere of radius 21 cms.

111.T Tl BT IAITT 4851 O TH B | STBT AT 1A BT |
The volume of a sphere is 4851 cc. Find its diameter.

112.39 37 Tel T I IR T8 S1d S e Brar 3.5 J91 2 |

Find the volmume andsurface of a hemispherical whose radius is 3.5 cm

113 39 JENT QTel § fhaar Uit ST, o adT g 7 99 2 |

How much water will be contained in a hemispherical blow of diamater

114 T @rgel el H, e B 6 3 7| gofa: Niar bl 88 o W
60° T DIV AT & B DI D% H X A1 DINIY |
A holow sphere has a radius of 6 cm . Arod placed completely inside it

subtands an angle &@ the centr. Find the distance of the rod from the
center.

115 2 S, B3 arell 64 Miferai &I fUEeiaR UH §S1 el 9917 41, §
el &1 B 9 Py |
A sphere is formed by melting 64 balls of radius 2 cms. What is the
radius of this sphere ?

116 W @ fodl 89 & 9! dR 11 I 8 | 0.5 9HT &G @ fhad el
BY g O Fhd 8 7
A cube of 11cms .edge made of lead is melted and moulded into balls of

0.5cm diameter. How many such balls can be made ?
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IR+

IR

URH

URH

117.V% °1 & do9 9, 96T I/ 8 WHT 8 3R SHarg 90 WHI B, I
AR 12 HHI T aTel fhd= el IR ST A © |

How many sphers of diameter 12cms. can be made by melting cylinder
90 cms hight and of 8 cms diameter ?

118.914 & U I Udg Bl, TS HdTs 9 TH &, TATHR 3 FHT (T BT
Teh SI TMTeTl I1a1 AT 8 | Ty 1 3T 91 BRI |
A solid sphere of radius 3 cms is made by melting a solid copper cone
9 cms high find the radius of the base of the cone.

119.U% S T B HATE 10 AHI § IR A 20 FHI 2 | SH TATHR 2 FHI
AT dTel fhae el 99T ST Fahd & 2

How many spheres of 2cms. diameter can be made by melting a solid
cone which is 10 cms. high and the diameter of whose base is 20 cms ?

120.U% e MAThR IR 9 ¥, RSTd < 4 390 7, 2 |, 9 a1ell 9
&7 U geAdTell & | a1, YuRde 1 # o= ueref e g7 & |
A hemispherical paper-weight diameter 4 cms has an air bubble of 2

cms. diameter. Find the volume of the material of the paper weight.

121.Tdh el B BT 9 3R Ao Bt paen 7 399 3k 6 99 2 |

SHPBT ST ST DIy |
The external and internal radii of spherical shell are 7 cms and 6 cms

respectively. Find its volume
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SHlE 6
Unit-6

Cir e e
[SMILAR TRIANGLES]

e 9¥e(Objective Question)
W A} N e fom & =@ T gl -
Short out the correct answer from the following given four answer.

U 1

U 2

U 3

U3 4

A ABC# X@@vs MN,ABH @& M I AC® Nfag w fean
T AB @ 2:3% Ui fwifeid &var & afX MN = 10 cmdr BC
BRI |

AIn ABC, a line segment MN, with M on AB and N on AC is drawn parallel to
BC and divides AB in the ration 2 : 3. If MN = 10 cm, then the length of BC =

(@ 12cm (b) 15cm
(c) 20cm (d) 25cm

A §AEY A ABC 3R DEF &1 &3%dl 392cnt 3R 200cn?® @IAB
3R DE @1 UM 8FM| O

The areas of two similar triangles ABC and DEF are respectively 392oth
200 cm2, then the ratio between AB and DE is =

(@ 1:5cm (b) 5:7cm
(c) 5:6cm (d) 3:5cm

AABC3R A DEFH gA= D;gB= EandpgC=gF,AB=8cm,
DE = 10cm , DF= 3cm, then AC & BRI |

INnANABCandA DEF, A= D;gB= Eand C= F,AB=8cm,DE
=10cm , DF=3cm, then AC =

@ 1.5cm (b) 2.4cm
(c) 12cm (d) 3cm

AABC XY HHI=N BC 2 3R AX = 4cm, XB = 2 cmdl AY 3R YC &1
U 8O |
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U 5

U 6

U 7

INAABC XY || BC, such that AX =4cm, XB =2 cm then theratio AY : YC =

@ 2:1 (b) 4:1
(c) 3:1 d) 1:2

AABC # Y@ @US XY,BC & WK & d YWTAB & X 3R
ACH Yfig w® fiar ar 2

AXY 3R A ABC & &F%a &I AU g @ AX IRAB @1

T BT |
The Line segment XY is drawn parallel to the side B&ABC meeting AB in

. 9
Xand ACinY. If aredA AXY) = Earea(x ABC); then AX: AB =

(@ 3.4cm (b) 9:16
(c) 19 :9 (d 4:3

3 gHed e e we9 B o sAe: 3cm iR 4 cnAfe
WM e &1 &3%a 18 cnt B A TR R[S &1 &F%a BN |

. . 9 , :
In two similar triangles the smfglest sides are 3 cm and 4 cm respectively. If
the area of one triangle is 18 %rhen the area of the other triangle will be :

(@ 9cnr (b) 16cn?
(c) 18cnt (d) 32cn?

AABCH pA@T AD HHfgHeid 8 If BD =8 cmyd DC = 6 cnil
BD: DC &R |

In A ABC, AD is the internal bisector af A. IF BD = 8 cm, and DC = 6¢cm,
thenBD: DC=

(@) 3:4 (b) 4:3
(c) 2:7 d) 7:2
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U 8

U 9

AABCH P3lR Q AB3IR ACHoT & a1 fasg & Il AP=2 3k, PB
= A QC = 6 9fl @ BC 8

P and Q are points on the sides AB and AC respectivAABIC. If AP= 2cm,
PB =4cm, AQ =3cm, QC = 6¢cm, then

(@) BC=2PQ (b) BC=PQ

(c) BC=3PQ (d) BC= PQ
T GHSIT ST @ T F99 o 6 I Sk 8 WA T df S
Y §S1 qom &R |

In aright angle the two smaller sides are 6 cm and 8 cm repsectively , then its

longest side =
(@ 14cm (b) 12cm
(c) 9cm (d) 10cm

N
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®g @ §d Jmfa wee (Short and long Answer Quesion)

U 1

U 2

U 3

U3 4

U 5

U 6

31 WY el ABC 3R DEF & &5%dl 9L 36 a7 & o

81 o & 2| afe EF = 4.5% & @ BC & oa1s o ¥ |

The areas of two similar triangle ABC and DEF are 36 sq. cm and 81 sq.
cm respectively. If EF = 4.5 cm, find the length of BC.

969 s A ABC 3R A DEF # afe DE =3 ¥t EF = 53
DF = 437 @1 BC = 209 & oI AB &1 A9 a@i |,

In similar triangleAABC and DEF,ifDE=3cm,EF=5cm,DE =4
cm and BC = 20 cm, find AB.

M @R N A PQR @t ¥uiii PQ 3R PR & fag 81 =@
N 78 Rafd & fog g8 sai & MN || QRE b == ? PM = 4,
QM =45PN=4,NR =45

M andN are the points on the side® andPRrespectively of a triangle
PQR Determine whethevIN ¢ parallel taQRor not ifPM= 4 QM =
4.5,PN=4 andNR = 4.5,

3 wafgarg Prel & i @i g § | S 89%d 916 B
Igurd # B ST WId MY o€l BT UK WA DI |

Two isosceles triangles have equal vertical angles and their areas are in
the ratio 9:16. Find the ratio of their corresponding altitude.

D3R Emwer B ABC @t yoieii AB 3R AC W Red |
gfe AB =1.35AC =1.80, AD = 0.180R AE = 0.20d" saren & 2
f& 8 |

afe <1 Brqell d qormell &1 AU 2 3 § @ STw &FBA B

AU S BN |
D and E are the points on the sides AB and AC respectiveA&IC. If
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U 7

U 8

U 9

U 10

U 11

AB = 1.35, AC =1.80, AD = 0.15 and AE = 0.20, find whether DE is
parallel to BC or not.

TH 12 9 o Gl Bl @ ORI WX TS @ BT P oEIg

8 I 2| S IHY Th AR @ 9HH W TS W& BT P A=

40 W 8| ANR @ S8 T B |

A vertical stick 12 cm long casts a shadow 8 cm long on the ground. At
the same time a tower casts the shadow 40 m long on the ground. Deter-
mine the height of the tower.

a1 wed BgerY @ uRaa waer 30 99 ek 20 9 B AfQ
gl S @ U qOT P I 15 9 8 O gER B @t
G ol B =g A b |

The parimeters of two similar triangles are 30 cm and 20 cm respec-
tively. If one side of the first triangle is 15 cm, determine the correspond-
ing side of the second triang‘?e.

I A PQR @t ¥uielt PQIRRP & #&a g wAe M &R N &
@ MN || QRSN @ Hom & 99 = &I, afc PM = 4969, QM
= 4599, PN = 439 2|

If M and N are the middle points of the sides PQ and RP respectively of
POR, find the side NR, if PM =4 cm, OM =45 cm and PN =4 cm.

3 wAfgeg Oryel @ i o gaF € ok S aFwa 250 121

D U H 2| ST EId MY—oral BT SU wd PG |

Two isosceles triangles have equal vertical angles and their areas are in
the ratio 25:121. Find the ratio of their corresponding altitudes.

fog o & < gAey PBrel & ddl &1 UM B 7 '@
qorell & T B JgUd P SRER BT T
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U 12

U 13

U 14

U 15

U 16

Prove that the ratio of the areas of two similar triangles is equal to the
ratio of squares of their corresponding sides.

A ABC # PQ || BCt | f4g @ifsig f& #iftaar AD, \@r PQ &t

FAfgaia Heht B
In a triangleABC, P andQ are points on AB and AC respectively and

PQ || BC. Prove that the median AD bisects PQ

A ABC @1 ¥alT AB 3R AC W e fag AD, ¥ PR Q 39
UpR & 6 AP =23, PB =439, AQ = 39% 3R QC = 69#
2| fog @fw f& —

I MR BC W AR BC & TH & 3R & BAya ABC 3R
DBC ¥fi¥ @i §9&IvT §90 g§¢ @ig T | afk AC, 3R DB
fig P w® ufime o=l § @ Rig I &

AP x PC = BP x PD

On the same base BC, two triangles ABC and DBC right angled at A nd
D are drawn on the same sides of BC. If AC and DB intersect at P.
Prove that

AP x PC =BP x PD

fig @ity & &l Brge @ 1@ o1 @& §a=R 35 @
did S O 9% 3G ST Y@ Pl WA U H el T

If a line is drawn parallel to one side of a triangle intersecting the other
two sides, then the other two sides are in the same ratio.

g 9T afy <1 Y@ &N Brga & @ gomel & e\ =
ggura # fawfog axelt 2, @ 98 @, fd qur & ' s
Bl 2|

If a line divides any two sdes of a triangle in the same ratio, prove that
the line must be parallel to the third side.
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17

18.

19.

20.

21.

22.

et ABC # PR Q®W: Hul AB SR YaT AC R g 2 iR
PQ||BC Rig #INT f& wiffaer AD Y@ PQ o wafwifira Hal

2 |

In a triangle ABC, P.Q are points on AB, AC respectively and PQ||BC.
Prove that the median AD bisects PQ.

Rig BNT 5 N Prqst @ qomel @ w1 Rgal & A

¥ T 9 OR Brel § 9 Qe Ba 9 Be & awed
BT 2|

Prove that the line segments joining the mid point of the sides of a trian-
gle form four triangles each of which is similar to the original triangle.

o B3RS &7 (@ 31T 0@ T B/ @ U@ DT & SR B IR
¥ 9F DI P FAfGHIGIG R YOieil I WA U H
fomfog o €1 fig @it & Brier 9w 8
One angle of a triangle is equal to one angle of another triangle and the
bisectors of these equal angles divide the opposite sides in the the same
ratio. Prover that the trianglegare sigilar.

CD CA
QA GEGY P URAY  (perimeters) HAI: 30 VAL R 20 I |
I ugel B A TS qon @ dlais 15 WL B @ gEN Bye
B WA YR B das A B |
The perimeters of two similar triangles are 30 cm and 20 cm respec-
tively. If one side of the first triangle is 15 cm, determine the correspond-
ing side of the second triangle.

AABC &% et BCWR U& W&r fawg D8 f& f& DADC = 0BAC Rig
fy fo—

D is a point on the side BC aABC such theDADC = OBAC Prove
that

M MR BC W AR BC & TP ol AR & WHHT e ABC
AR pBC ¥R My | AR Ac @R DB Pfig W BT Fx &,
o fig #IfvY fb
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U 23.

U 24.

U 25.

U 26.

R 27.

AP x PC =BP x PD
Two right triangles. ABC and DBC are drawn on the same base BC and

on the same side of BC. If AC and DB intersect at P Prove that
AP x PC = BP x PD

< gaag Bryel @& Wider g € R 999 &F%d 916 @

I H F| STB GId MY Fdl BT JGUG A PG|

Two isosecles triangles have equal vertical angles and their areas are in
the ratio 9:16. Find the ratio of their corresponding heights (altitudes).

Ife <1 wueu el @& aawd swe] @ o g difsg f& 3
et watmaw 2

If the areas of two similar triangles are equal, prove that they are congru-
ent.

Rig @ISt & @ Yot W §91¢ ¢ w9a1g e &1 &9%a S9
9f & fapuf W §E¢ T wHeIg RS & &% BT ST Bl
=

Prove that the area of the equilateral triangle described on the side of a
square is half the area of the equilateral triangle described on its diagonal.

Th 12 AL ol ES B P THH R TS ) BRT B G918 8
A, 21 SH T e MR B 9HH W TS & BT P ods
40 H. 2| MR 9 HAE A B

A vertical stick 12 cm long costs a shadow 8 cm long on the ground. At
the same time a tower costs the shadow 40 m long on the ground.
Determine the height of the tower.

B el @ gog = & 1E F)| Ay 5 ST I -aH
A e wwe e 21

() 6 9, s&Y., 10 9L (i) 5 9., 8 |HL, 11 |
(i) 8 |, 15 WA, 17 /M. (iv) 7 9N, 24 9N, 25 A

The side of certian triangles are given below. Determine which of them
are right triangles.

() 6cm,8cm, 10cm (i) 5cm,8cm, 11lcm

@@ 8cm,15cm,17cm (iv) 7cm, 24 cm,25cm
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28

29.

30.

31.

32.

33.

& 3MGHT g4 @1 AR 150 . ofmar 2 &k R S&R @t 3R 200

®., ST ¥ FaEY 5 9F INA R @ ol o W R

A man goes 150 m due castand then 200 m due north. How far is he
from the starting point ?

U 25 Al odl G Th 9a9T » SFIF | 20 HL Hdl Rasa d@
T B WA ¥ O B e RR @ @ s Fifvig

A ladder 25 m long reaches a window of a building 20 m above the
ground. Determine the distance of the foot of the lader from the building.

Th A 39 e W& T8 2 P Suer faer RRr flar 9 5 M.
T W) 2 AR SHHT S R o 9§ 12 A o@ Resdr a@
T 21 9 B d9E S| P |

A ladder is placed in such a way that its foot is at a distance of 5 m from
a wall and its tip reaches a window 12 m above the ground. Determine
the length of the ladder.

ABC T& Bnet @ R AB = AC 3R D yor BC R a1 fag ? 1
fog @Ifg fo—
AB?- AD?=BD.CD
ABC is atriangle in which AB = AC and D is any pointin BC. Prove that
AB?- AD?=BD.CD

ABC T& wWfgarg w9aiv Brfe & fR/aar @11 C w9l 2 |
fig @ifvig fa—
AB?2 = 2AC?
ABC is an isosceles right triangle, right angled at C, Prove that
AB?2 = 2AC?

AB 3R CD U& gl @l a1 ial] § gl AB = 10 ¥l CD =24
9. 3k 2| 3R AB || CD®I AB 3R CD & dw & T 17 I
2 g @ B w@ HIk

Give a metthod to find the centre of a given circle. AB and CD are two
chord of a circle such that AB =10cm, CD =24 cm and AB | | CD. The
distance between AB and CD is 17 cm Find the radius of the circle.
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34.

35.

36.

37.

38.

5 9 30T 91l Ue g § AB 3R AC 3 ofiag &, o1& AB = AC
=6 . 8| Shar BC @& <41 §1d PIforg |

In a circle of radius 5 cm, AB and AC are two chords such that AB =
AC =6 cm. Find the length of the chord BC.

ff ot Wil vad Eitd sefe gl @ G mEae .

5 9. 3R 21 &0 € T TP DRl D 9 B A 36 . T

Wl @Rl @ NI @ UM DI T ATY |

Draw all common tangents to circles whose radii are 1.5 cm and 2.1 cm
respectively. Their centres are 3.6 cms apart. Calculate and measure the
lengths of the direct common tangents.

o =i agysl ABCD §A15T, Wiei AB = 3991, BC = 69#I, AC
=49 &R AD = 2 9. |

Contruct a cyclic quadrilateral ABCD, where AB = 3 cm, BC =6 cm,
AC =4 cmand AD =2 cm.

fRT g0 asBCc @ WS TE FAME IR RrE@ yR@E e
aﬁ'wgwﬁ%z/s%m%wﬁluﬁugﬁm

T 8 5 AB=430, BC=53" iR AC = 699

Construct a triangle similar to a given  such the each of its sides is

2/3 rd of the corresponding side of . It given that AB =4 cm, BC

=5cm and AC =6 cm.

% agdsl ABCD s8¢ Wisl AB = 3 9. AD = 2.79#I, DB = 3.6
W, B =1103R BC = 4239M.| agdy & 99U agd
g5y Wi fAwvt @ <9 /L 8

Draw a quadrilateral ABCD, with AB =3 cm, AD = 2.7 cm, DB = 3.6,
0B =110 and BC =4.2. Construct a quadrilateral A" B' C' D' similar to
quadrilateral ABCD so that the diagronal DB may be 4.8 cm.
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SHIE 6
(UNIT-6)
gEgEiesd YA U@ JSADB  JuAlT

[PYTHAGORUSTHEOREMAND ITSAPPLICATION]

#Ad BY I W/ Short Answer type Questions :

U 39

U 40

U #41

U 42

AABC T& wHfgarg w9l Bryel 8, S6® &I C §9aIv 2 |

fig a0 & AB2=2AC

A ABC is an isosceles right angled triangle, right angle at C. Prove that
AB2= 2AC%,

Ud 25 A o6l gl TP 9a9 $I oM 9 20 Hiex Sa1  Rasal
TP O 21 "9 ¥ W B Foa RR A o sa AR |
A ladder 25m long reaches a window of a building 20m above the ground.

Determine the distance of the feet of the ladder from the building.

T®H IEHT g BT AR 150 HieX Wrar & iR iR o) o 3R 200
Alex e 2| 9asy URMe g 9§ @' o w2 ?
A man goes 150 metres towards East and then 200 metres towards

North. Find its distance from the initial position.

TP W 39 e W T § 5 Swer Faer R AR ¥ 5 Wi

D P W T IR IW T 9 4§ 12 A o4O Rasar @@

S g1 W @ o= Sane |

A ladder rests against a vertical wall. Its lower end is 5 m away from the
wall and the upper end reaches a window 12 m above the ground. Find

the length of the ladder.
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ueq 43 &8 AABCH BF sk ADO BC? | @ fig &1 &
AC? = AB?+ BC?-2BC. BD
InAABC B is acute is angle and ADBC. Prove that
AC?=AB?+BC?-2BC.BD.

U 44 AABCH B & @ior afs AD OCB @ fig o f
AC? = AB?+ BC?+ 2BC. BD
InAABC B is obtuse angle. If AD CB. Prove that
AC?=AB%+BC?-2BC.BD.

e 45 AABC #§ AD OBC, afe AD = par Rig #Ivig &
A

In A ABC, AD  BC. If AD = p, prove that

Elbz—pzﬂ/cz— pPBa D C

U 46 URATIRY g & foray 3Rk Rig &9 |

State and prove Pythagoras Theorem.

U 47 P e 4 Al & qor &1 & o= | Rl @ T b AN B
TR & O Ugell Yol D 6HA BT DIV FADIT Bl & |
In a triangle if the square of one side is equal to the sum of the square of
the remaining two sides, then prove that the angle opposite to the first

sides is a right angle.

96



UeT 48 P3IR Q&Hw AABC Wf C R W¥IU &, @ qumei CA 3R CB
o = fag 31 g o &
4 (AQ*+BP?) = 5 AR?
The triangle ABC is right angled at C. The point8 and Q are
respectively the middle points of CA and CB. Prove that
A(AQ+BP?) = 5AB?

e 49 AABC § AB=AC 3R D¥T BCWR 315 fag 2| Rig &0 &
AB2- AD? = BD.CD

In A ABC, AB = AC and D is any point on the side BC, Prove that
AB?-AD? = BC. CD.

e 50 AABC#H [|C W@ & Ifx C¥ AB W ST T & &I oi¥Ig
paam AB=c, BC=a m%&%ﬁéﬁa PN P
(i) pc = ab,
(ii)
In A ABC, C isright angle. If p is the length of the perpendicular
from C to AB and AB = ¢, BC = a and CA = b, prove that
() pc=ab
(ii)
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sHIE 7

UNIT -7
ga,gqa ot uRRf wad adiln agss

[CIRCLE,CIRCUMFERENCE OF CIRCLEAND CYCLIC QUADRILATERAL]

gEjfTs Uy Objective Type Question
M R N ok o & @ = gl -
Short out the correct answer from the following given four answer.

e 1 &l ga @ Broar 5 90 @ B 9§ "™ W) Een T oW 4 99
g @ A" B g S|
The radius of a cicle is 5 cm while the length of the perpendicular drawn from
the centre to a chord of the circle is 4 cm, then the length of the chord will be

equal to :
(@ 9cm (b) 3cm
(c) 6cm (d) 4cm

g 2 fRRANRRAA AP=88 9 CP =699 PD =4 & @ 8 |
In the given figure, AP =8 cm, CP = 6¢cm, and PD =4 cm then AB =

(@ 3cm (b) 1lcm
(c) Scm (d) 24cm

7 3 fedl g0 B 5 W TN R Rem g ¥ d ¥ e ar @
THEE 4 AW g A g9 BT AN BT |
The length of a tangent drawn from an external point, 5 cm away from the centre
IS 4 cm, then the diameter of the circle is

(@ 6cm (b) 2.5cm
(c) 3cm (d) 2cm

7 4 ol g0 @ 5 g ™ aR 4 affeaw wef Y@ &= o
a2
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U 5

U 6

U1 7

U 8

U 9

The maximum number of tangent which can be drawn from an external point to

a circle are :
(@ One (b) Infinite
(c) Two (d) Three

AABC & S UR&—= & 3R AS =4 I & o BSERT |
S is the circucentre & ABC and AS = 4cm, then BS =

(@ 4cm (b) 2cm
(c) 8cm (d) 6 cm

f&d 99 & &= O¥ AOB &M & IfX o BOC = 100 @8 [ACO
AOB is the diameter of a circle whose centre is O7IBOC = 100, then
ACO-=...

() 45° (b) 8
(c) 50 (d) 9r°

A9 ST e fagal & BIH% WM drelt gl @ " sRfY|
The number of circles which canD be drawn passing through three different points
which are not collinear are :

(@ One (b) Two
(c) Three (d) Infinite

fodt g0 @ =g g/T IR @ fadlt g W™ 9 ™1 3o
EU

The angle subtended by the diameter of a circle at any point on the
circumference =

(@) Obtuse angle (b) Acute Angle
(c) Reflexangle (d) RightAngle

AR &1 0 e = AR B® O (& g @ ARG
fag w Wt oxa 2 <A g9l o, weee 6 ¥ ek 4 &
A T AB P TEE  BR |
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In the figure two circles with centres A and B resepctively touch each other
internally at P. If their radil are 6 cm and 4 cm. If their radil are 6 cm and 4 cm
respectively then length of AB

(@ 2cm (b) 10 cm
(c) 1cm (d) 5cm

e 10 REMER x &1 99 aeh ?

In the figure, meause of

C

45

A X0 105)8
(@) 60C (b) 120
(c) 3 (dy 9
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sHE 7

UNIT -7
ga,gqa ot ulRf wad ol agss

[CIRCLE,CIRCUMFERENCE OF CIRCLEAND CYCLIC QUADRILATERAL]

oy w & @y wee  Short and long Answer type Questions :
e 1 5l g9 9 Sfiar 9t oerE 8 W 2| IR 9 W o 9§ WY Y
o P dHETg 3 WA B OF ga @ e @@ enft ?

The chord of a circle is 8 cm. If the length of the perpendicular drawn
from the centre of the circle to the chord is 3 cm. What is the radius of
the circle ?

g 2 5l o0 P o= 9§ SHel fH Siler R o @ owIg 4 99
IR g o w5 W 2 | oA @ TR T SN |

The length of perpendicular from the centre of a circle to a chord is
4cm. and the radius of the circle in 5 cm. Find the length of the chord.

U 3 (P QU ¢ 999 &1 o= 9@ dxa o Ry wfm wwsmh |
Explain the method to determine the centre of a circle, giving suitable
figure.

Y 4 g B god oAl b WX ged BV IR w8 fig
PIFAY |
Prove that equal chords of a circle subtend equal angles at the centre of
the circle.

U 5 A D Pw W oGl UR STl AT NT Sial I FASHINIT BT
2| fog IR |

Prove that the perpendicular drawn from the centre of a circle to a chord
bisects the chord.

g 6 g o0 & g0 @& o= &R Siar @& #7e g o fAam amn
@l S ar ) @ BRi B

Prove that the line joining the centre of a circle to the middle point of a
chord is perpendicular to the chord.
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g 7 AN T el ¥ W P IR daa TS & g9 dier o
gl 21 Rig a9 |
One and only one circle can be drawn through three non-collinear points,
Prove it.

U 8 TP gd @ QI gy AB IR CD ¥9IRR & &8l AB = 10 991 3iR
CD=24 8] ABAR CD& fa & ¢ 17 9 81 3@ &)
froar s S |

In a circle, AB and CD are two parallel chords of length 10cm and 24cm
respectively. The distance between AB and CD is 17 cm. Find the radius
of the circle.

U 9 TP gad H AB IR AC T g oilany g1 frsar 590 R AB =
AC= 6 3 8| SilaT BC & g od HINT |

O is the centre of a circle of radius 5cm, AB and AC are two equal
chords each 6 cm in length. Find the length of the Chord BC.

U9 10. (ol IHATS TR VAU &1 gl Bl [T ari 2.8 |4 T2IT 2.00
g fr=foRaa aRReafoal # = ST Al § |
(1) Tl & = 2 WL W R B
@ T B B= 4.8 TH. U W &
(B) I & d= 6.8 TH. U W &
(4) IO B D= 0.6 T U W &
How many commone tangents canbe drawn to two circles of radii 2.8 cm and 2 cm
respectively under each of the following conditions ?
()  The centres of the two circles are 2 cm apart
()  The centres of the two circles are 4.8 cm apart

(i)  The centres of the two circles are 6.8 cm apart
(v) The centres of the two circles are 0.6 cm apart

e 11, 9T IAFTSS Wl NERl Wit Siafe gadi @ oAl wHer 1.5 |
3R 2.1 9. € T 39D Bral & 1 B 0 3.6 AHL T | wLf @i o
oIS I ITOTET BITSTY T AT |

Draw all common tangents to circles whose radii are 1.5 cm and 2.1 cm respectively.

Their centres are 3.6 cms apart. Calculate and measure the lengths of the direct common
tangents.
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U 12, Ud Ghid Ag4ol ABCDIISY, T8l AB = 3UHI. BC = 6HHI., AC = 43I,

U 13.

U 14.

3R AD = 294, |

Construct a cyclic quadrilateral ABCD, where AB=3cm,BC=6cm, AC=4cmand
AD=2cm.

fau gu & FHHY U Sl a918Y T U ol DI
I YTt & 2,/3 d W & S_IER 8| Fel g four gann € fb AB=4
HHI. BC = 531 3R AC = 69, |

Construct a triangle similar to agiven such the each of its sides is 2/3 rd of the
corresponding side of the .ltgiventhat AB=4cm,BC=5cmand AC=6cm.

U IS ABCD 9ISV T8l AB = 3HHI. AD =2.79HI, DB = 3.69HI,
3fR BC = 4.29H1. | IQHSI ABCD & HH®U IFHGl A'B' C' D'
18V STl fadvt DB &1 Fars 4.8 1. &1 |

Draw a quadrilateral ABCD, with AB=3cm,AD=2.7cm,DB=3.6gB,=11¢and

BC =4.2. Construct a quadrilateral A" B' C' D' similar to quadrilateral ABCD so that the
diagonal DB may be 4.8 cm.

ORBA 10
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gOE 7
ga o ufffd wad oSl agda

[CIRCUMFERENCE OF CIRCLEAND CYCLIC QUADRILATERAL]

®g U@ ¢ W W Short and long Answer Type Question

U 1

U 2

U 3

U3 4

U 5

U 6

I TH IAPHA DT Tb DI 75° DI B O SHDT GRE DI
foar grm ?

One angle of a cyclic quadrilateral is’.78/hat is its opposite angle ?

ABCD T& = 3ga &l ffig &1 f& A, B, C, D 9 8lax WM
I I BT v SUd AUl 1 gk g g 2

ABCD is a cyclic rectangle. Prove that the centre of the circle through
A,B,C,D is the intersection of the diagonals.

fig &1 &5 qud # s ST TR BT 7

Prove that the angle in a semi-circle is right angle.

U6 9 P AR AN D= TR RER BV JART HRA T |
fig oo 2|

Prove that equal chords of a circle subtend equal angles at the centre.

OT®h I &1 d= 8| IR gOAB =30°  OCB = 40° & @ &I
DAOC A ¥ PIfeg |

In the following figure, O is the centre of a circle. tFOAB = 3C(and
0 OCB= 40, find the value of5 AOC.

ABCD Ife I =gysl | 39&T & & | If g ADC =140°<t
0BAC & W9 ¥ difoig |

ABCD is a cyclic quadrilateral. AB is its diameterJADC = 140. find
the value ofg BAC.
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U 7

U 8

Y 9.

U= 10.

U 11.

g o0 & a9 aqs & 99 SOt &1 AT | 1800 T ¥

Prove that the sum of opposite angles of a cyclic quadrilateral9s 180

fig o f& fd 99 gR o R <1 @I g6 A9 gRT 99 Y

R & et g ® T ST &1 AT BT B

Prove that the angle subtended by an are of a circle at the centre is
double the angle subtended by it at any point on the circumference of the
circle.

AB 3R CD & C (0,1 @ &9 © | g HIfSTY fdh AC || BD3IR AD | | BC

g afe dl pAOC ST DI |
AB and CD are diameters of a circle C (O, r). Prove that AC | | BD and AD | | BC. If
, FindJAOC.

g ST 5 Tafgarg e o av1er omell & & f5h va 9o @
T AFBR GiHT T god B @& MR ST FAGHINT ST ¢ |

Prove that the circle drawn on any equal side of an isosceles triangles as diameter bisects
the base.

MR 7.35 § ABC THaTg BrfoT 2| 3R I BIfTY |

In Fig. 7.35, is equilateral. Find and
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U 12.

U 13.

U 14.

U 15

AB T C (O, 1) HT U T & AR 591 ODT™ AB R &9 & | Il DB
W PIg fadg C 7, 1N 1 PIRTY | (MRf 7.36)

AB is a diameter of the circle C (O, r) and radius OD is perpendicular to AB. If C is any
point on DB, find and (Fig. 7.36)

3Mepfcl 7.37 H ABCD Ud IhId dgqSl & fordd [dhol U gar &l W
gfaese axd g ufe 3R pac=3¢ & d OBCD A
DT |

In Fig. 7.37 ABCD is a cyclic quadrilateral whose diagonals intersect at P. If
andgBAC =3¢ find OBCD.

e T DI QT SRIATAR oIy a_TeR & ol Rig dIfory 6 a8 g 2|

If two non-parallel sides of a trapezium are equal, prove that it is cyclic.

g o & 390 @ a9 @& Rt ) & 18 et ey
AR Bl B

Prove that the tangents drawn at the extremities of a diameter of a circle
are parallel.
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16

17

18

19

20

21

AT @Rg R aasarfag 19 flg PR
Safs Il Y@ Wm WY YW@ TQ IR TR SFI g W &l
T$ 2 | Rig P &

TOQ=TR
Two circles tough internally at P and T is any point on the common

tangent at P. From T tangents TQ and TR are drawn to the two circles.
Prove that.

Ik A ABC 1o wfgerg Brfar 8 w@f AB = AC 3R C(O,r),
A ABC &7 a: g & Sl @ IR WY oxarl & of g difog f
f&g L yon BC @1 wafgwifoa &war 2|

If A ABC is an isosceles triangle in which AB = BC and the circle
C(O,r) is inscribed i\ ABC which touches BC and L, prove that the
Point L bisects BC.

&N 0 @ a1 Ry ¥ 70 ® &N © Q@ W @), g Bk
g | g a3 |

Prove that tangents drawn to a circle from an external point are equal.

ga @ «1 silaig AB 3R CD fag E & g0 & #iax ufdess ol
gl gt AE=4 9%, BE=4%% CE =630, @t DE & =18
EICEC2

Two chordsAB andCD of a circle intersect within the circle at the point
E. If AE = 4cm,BE= 3cm,CE = 6¢cm, find the length dDE.

I g7 B Sfar B @ BR g ¥ enit g & ¥ Y@ sk
War @ g BT DIV bR @US H Silgl gRT I<IRd P &
W & @ I8 Y@ g H WY & B 2| g w |

IF from the extremely of a chord a straight line is drawn to such a way
that the angle made by the chord with the line is equal to the angle in the
opposite segment, prove that the straight line is a tangent.

fag @it & aft et @ & @ A &= & T a1 TR
oM W gfawe Hxdl 8 Of Y oilal & & @Sl W 99 I B
A% THQ Oial @ & @USI ¥ §9 I d HABA P XX Bl
2
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U 22

U 23

U 24

U 25.

U3 26.

U 27.

Prove that if two chods of a circle intersect, either inside or outside the
circle, the rectangle contained by the parts of one chord is equal in area
to the rectangle contained by the parts of the other.

PAB U& g & BaP Y& & Gl g & A 3R B W &icdl 8
Wy PT ¥@m@vs 2| g &1 f& PAPB = PT

If PAB be secant of a circle which intersects the circle atnd B and

PT be a tangent segment, prove that
PA.PB = P?

A g AR TH gER B TERE AT ARG [ g Wt
A T | P G EiE T 2 W PH 8aN Wi © SR QT gal
® A QR UfE wwel g1 fig @Iviw f& OQ || O' Re|

Two circles C(O,r) and C (O',r') touch externally and internally at the
point P and a straight line is drawn through P which intersects the circles
at Q and R respectively. Prove thaQ || O'R

TH g B HASE 5 /A AR 11 [ TR B QY Sha” SR
TR 81 AR AB IR CDgGigRa & 0 3 & &, o g &)
frear gma Hifg |

In a circle AB and CD are two parallel chords of length 5cm ad 11cm
respectively. The distance between AB and CD is 3cm. Find the radius
of the circle.

I AB T wHfgarg Byl 81 98t 3iR fd ged &1, Sif BC &I L IR wef
axal 81 ar Rig HfSY % &g L o BC @l |aAfgwiig &var 2 |

If isisosceles with AB = AC and C (O, r) is the incircle of the  touching BC
at L, prove that the point L bisects BC.

g HINTY fF g0 & I & BR &R Wi T8 wef @7 iR 8l 2 |

Prove that tangents at the ends of a diameter of a circle are parallel.

S gl B b b fdwg U ST BT S <1 g8 ¥l bl Ueb fay gy fag
R W B E

Find the locus of centres of circles which touch a given line at a given point.
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U3 28. g PINY 5 gad a1 a1 FHIcR Wel X@rsil & a9 Uab T30 Xl 3l 3
GUE Bg TR AV JART BT 7 |

Prove that the intercept of a tangent between two parallel tangents to a circlessubtends a
right angle at the centre.

U 29. &I gad C (O, 1) 3R C (0, TP T & dIId: T AARS: U fdg P
R R P 2 | U QT Gl T8 & S P BIdR O § AR &l gedl
BT HAY: QRWR Ufress &xall ® | Rig I fs 0Q | |O' R |

Two circles C (O, r) and C (O', r) touch each other at P, externally or internally. A line is

drawn to pass through P intesecting the two circles at Q, R respectively. Prove that OQ |
| O'R.

UeT 30. IS ABC TS WAIGATE ol 8 S81 AB = ACEI, a1 Rig dIfoiy &
@ IR & favg A TR et Y@ ol BC® WHIR 2|

If is isosceles with AB = AC, prove that thetangent at A to the circumcircle of
is parallel to BC.

AABC
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sHE 9

UNIT -9

FfadiT sEend - |
GEOMETRICAL CONSTRUCTION-I

#Hfa oY I u

U 1

U 2

U 3

U 4

A PQR® RTd g & & oY afe A PQ = 49 3R QR =
59 R RP =69 | g & froar e fafeg |

Construct a circum-circle & PQRin whichAB = 4cm,BC = 5cm and

AC= 6cm. Write down the steps of construction and measure the radius
of circle.

% Brge s9sY A A =70, BC = 730t @1 A §§ BC W ST

MW ae BT UE g F 4590 @ @@ ) &) W@ B Ug
fofeg |

Construct a triangle ABC in which BC = 7cmA = 7 and the foot D

of the perpendicular from Aldn BC is at distance 4.5cm from B. Write
down the steps of construction.

T T agygel ABCD &1 XoFT ifolg @1 Ta-T IFY oafs A
AB =8¥#H, BC=6¥ AC=4¥W 3R AD=2 ¥f | W1 15
fofeag |

Construct a cyclic quadrilateral ABCD in which AB = 8cm, BC = 6cm,
AC = 4cm and AD = 2cm. Write down the steps of construction.

et ABC @ URed g @ YT PIfGiq @ Y= difoig el
AB =4¥f, BC=5% AC=63H & |

Construct a circum circle & ABC in which AB = 4cm, BC = 5cm and
AC = 6cm. Write down the steps of construction.
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U 5

U 6

U 7

Y3 8.

Y 9.

U= 10.

A ABC &7 9Rgel 918y wiafs AB =53 BC =79 3R AB
0 ABC=50 %= & ug 9 faReq| e &1 am gma iR

e ABC @1 s=da ©ifay, @8f BC =6 &M, OB =59 3R
nc=70
Construct a circum-circle ok ABC in which AB = 5cm, BC = 7cm

andg ABC = 5. Write down the steps of construction. Find the radius

of the circle.

e ABC @t <= @ifoig foff BC=6¥M, g A=703R A ¥
M dTell AIftgdT AD = 4 91 | 9T & g W Ee fafEg |
Drawn an in-circle ofAABC in wich BC = 6cmgB = 55 and
nC = 70.

BT @1 = AT SR BC = 491 3R A ¥ 1@ T ¥y
o 4 9L BT

Construct a triangle ABC in which. DA =50"

BC=4cm,gA=50

and altitude through A =4 cm.

ST ABC &1 &1 BT ST8TBC =5HHI. ga=7¢° 3R A BIER I
qTell AIEIDT = 3.5HH, |

Construct a triangle ABC in which BC =5 gnn = 70°

and median AD through A=3.5cm.

& ST ABC @ =T BITSTY 581 BC = 79HI. ga=7¢° JIRAH BCWR
STl Y &9 &I ug fa=g D, B 4.5 AL @ € R & |
Construct a triangle ABC in which BC =7 crpa = 70° and foot of perpendicular D on

BC from Ais 4.5 cm away from B.
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U 11.

U 12.

UI-13.

U 14.

U 15.

ST ABC 18U ST8T AB = 4.4 I, Oc =65 3R CH BIHR S aTall
AT = 2,791 |
Construct a triangle ABC in which AB = 4.4 cmc = 65° and median through C =

2.7cm.

St ABC 1 URged 3iR 3idgd Wifery, Tgi—

Construct the circumcircle and the incircle of the triangle ABC when.
() AB=4cm,BC=4cmand AC=6cm

() AB=5cm,BC=7cmand]ABC =50C

@ BC=6cm, =50 ,and

QU gU BT ABC & \H%YU Udh ST 9918 1A Yo AABC @1
T qTIsif @ 6,/7 d WA & SRR |
Construct a triangle similarto agiven triangle ABC with its sides equal 6/7th of the corre-

sponding sides of

3y v aqds ABCD & wvey B8RS AT fSTe YSId ABCD &) ST
YT & 5,/7 d W & TR 7 |
Construct a quadrilateral similar to a given quadrilateral ABCD with its sides 5.7th of the

corresponding sides of ABCD.

=T SIS el @MY &1 gedl &l [a] B 2.8 1. =1 2.00

g fr=foRaa aRRefeal # S ST Al B |

(1) Tl & = 2 WL W R B

@ T B B= 4.8 TH. U W &

(B) I & d= 6.8 TH. G W &

(4) IO B B 0.6 T A W &

How many commone tangents canbe drawn to two circles of radii 2.8 cm and 2 cm
respectively under each of the following conditions ?

()  The centres of the two circles are 2 cm apart

()  The centres of the two circles are 4.8 cm apart
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U3 16.

U 17.

U3 18.

U 19.

(i)  The centres of the two circles are 6.8 cm apart

(v) The centres of the two circles are 0.6 cm apart

| IAFTSS WRl YNGRl iR Safe gl @ ARl wEer 1.5 JH
3R 2.1 9. € T 39D Dral & 1 B A 3.6 AHL T | TRf @il o
oTFTS T IUTAT HITSTT TAqT AU |

Draw all common tangents to circles whose radii are 1.5 cm and 2.1 cm respectively.

Their centres are 3.6 cms apart. Calculate and measure the lengths of the direct common

tangents.

T 1A TSl ABCD IS8T, ST8T AB = 3UHI. BC = 69HI., AC = 43I,

3R AD = 29! |

Construct a cyclic quadrilateral ABCD, where AB=3cm,BC=6cm, AC=4cmand
AD=2cm.

Qv 8¢ @ FHRY Uh Sl g8V STH®] Uid ol Gl
T ot & 2,/3 F 9T & HRRE| g=i ww Rar gan & 5 AB =4
HHI. BC = 531 3R AC = 69, |

Construct a triangle similar to agiven such the each of its sides is 2/3 rd of the

corresponding side of the .ltgiventhat AB=4cm,BC=5cmand AC=6cm.

U IS ABCD 9ISV S8l AB = 3HHI. AD =2.79H1, DB = 3.69HI,

3R BC = 4.29H1. | IQHST ABCD & HH®U IFHGl A'B' C' D'
913V STl fadvl DB &1 aTs 4.8 W41 &1 |
Draw a quadrilateral ABCD, with AB=3cm,AD=2.7cm,DB=3.6gRB,=11¢and
BC =4.2. Construct a quadrilateral A" B' C' D' similar to quadrilateral ABCD so that the
diagonal DB may be 4.8 cm.
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TPE 10
B/ Trignometry

TS U Objective Type Question
I T IR Ahedl | |El SR g

Short out the correct answer from the following given four answers

Q1.

Q2.

Q3.

Cose =............

1
(@ 1+co® (b) pems
(c) 1+tarto (d) 1+cote

fa 1 fo=n § Tang (From the given figure tan A is )

@ =+ © =3 C
5 3
(b) =2 (@ =1
3 4 5 3
A B
faa 4 fo=r § Sec © / From the given figure Seis
C
@ =2 (b) =2
(© =4 (d) =2 b a
Q
A C B
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Q4.

Q5.

Q6.

Q7.

g Sine=% I CosO «RIEN BT

If  Sind = 2 then Co® will be

b

@ T ® 2

© W @ ==
Sin 30 =.....ccoeeeiiiee,

@ 2 0)

© 3 @

Sint B- Cog 0 =...............

(@) 1-Sirt 6 Cos 6 (b) 1

(c) Sire-Coso (d) 1+2Sir? 6 Cog0

fa 1 o § From the figure Sdc=

@ % O B
13
© o @ i >
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Q8.

Qo.

Q10.

Q11.

Q12.

() —=

(d) 1+cote

(@ 1+co®B
(c) 1+tarto

fe ¥ fo=r # Tan Az (From the given figure tan A is )

ﬁs

@ =2 © =
5
3 4

Alw wlhr

(d)

,\
£
I

ol olo

~
()

~
1

g Sine=% I CosO &RTEN BT

f  Sind = 2 then Co® will be

b
b

(a) b2 — g2 (b) 4

b*-a F-a
(c) a (d) e
Sin30 =.....ciieeeeennn
@) 2 b) =
© 3 @ =
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Q13.

Q14

Q15

Q16.

Q17.

Q18.

Sirt 8- Co$ 0 =
(@) 1-Sirt 8 Cog 0 (b) 1

(c) Sirr6-Cos0 (d) 1+2Sirt 6 Cosg6

fe T o % From the figure Séc=

@ (b) =

© i @

(@ TanA (b) CotB
(c) Tarr (d) Cot A

Cot A.tan A =i
(@ 1 (b) O

(c) TarfA (d) Cof A

Sin A Cot AT 919 21T @ The Value of SinA. Cot A is

. Sit A

(@ SirtA (b) Cos A
CosA

(c) Cos A (d) S A

Sec A Cot AdT 94 2idT @ The Value of SecA. Cot A is
(@ SinA (b) CosA
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(c) Cosec A (d) Sec A

Q19. CosecA. tan ApT 719 8IaT 8 The Value of CosecA.tan A is
(@ SecA (b) Cosec A

(c) SinA (d) Cos A

Q20. TP AMR & MR ¥ 20 Hier 3 U R AR & RER & I=AT DI
45 &1 ¥ MR & SdTS B 8 |

The angle of elevation of the top of a tower idtsa point 20 m a away
from the foot of the way. The height of the tower will be

(@ 10m (b) 20m
(c) 40m (d) 20.3m

Q21. 40 ¥MR F° T H BRI 40 HieR oWl 8 Al G BT A9 DI

g | The Shadow of a tree is 40m.If the tree is 40m high. The angle of
elevation will be

(@) 45 (b) 30
(c) 60 (d) 70

Q22. U HMR & A®R A 100 HIex R Rerd 531l I AR BT I D107
45 @12 Al HHR @ HaTS BN

At a distance of 100 m away from the tree the angle of elevation top of a
tower is 45 then the height of the tower will be

(@ 1003 m (b) 100 m

(c) 503 m (d) 100//3 m
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oY U§ <rd SN ¥ Short and long Answer Type Question

Prove the following identities

Prove that
16
17

18

19

20
21
22

23
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Tar6 .Coseéd.Coso = 1

Cot?0 + Cotb = Coseéd -CosH

tant'd + tarr® = sec0 -seco
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fferRaa adafaRmen & Rig HIRTT Prove the following identities

Co9 _1-Simo
43. 1+Sird  Co9®
44. tarf6-Sir? 6 = tart@ . Sirtd
45, tart0 + Cot + 2 = seéd . coseédd
46. secd + coseé B = seéd coseéd
1+se® _ Sin’0
ar. se® 1-Cod
cose .
48. S +5sinO = cosed
_ 1-Sirp
49. (Sed®-tarp) = 15
1-Co® _ )
50. T+Co® Cosed-Cot)

qarsy o fFr=iferRad FHiaRor ot AffaRor g a1 =8
51.(a) Cot0 + Co$ = Sirro

tang+ Singo= se@p+ .

(b) tang-Sinp seqw-
frefeiRad |AHIdHRT 84 BT Solve the following equations
cod Co9
+ =4
52. 1-Sir0  1+Sirp
53. cod Co9

+ =2
Cose6+1 Coseb-1
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4.

55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

Co9cos(900)SinG — SinBSin(900) =0

Sin(90-A) - Cos(90-A)= Co2 A
tan A

tano
1+ tand

sin(900)cos(900) =

T IRt & g & g w1 —

Without using table prove that

Sin48® sec42+cosfd8osec4?2 = 2

Sin63® cos27+cos6Bin2” =1

cos80

: +cos63 sin27=
sin1d

A =d dI(fET |rRelt & garT o)

Without using the table find out
cos2? cos 63
cos63 |—| cos2¥

Cotag 1| 80833

ansd Sin558
Sin2? 2_ Cos63)’
cos 63 Sin 2%

Cot 54 N tan26
tan36  Cot76

RTe P/ Prove that

sinBcos(900)cod N co9sin(909) -1
Sin(909) c0s(900)
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65

66.

67.

68.

69.

70

71

12

73

74

75

76

7.

78.

79.

80.

cos(900)sec(900)tard N tan(900) _1
cosec(9M)sin(906)cot(904) cotd

HT =ITd DXI Find the value

sinfcos(900)Cod
cosec(9M)

sindcod)

\
HTH SITd PN Evaluate

Cos53
Sin37

fferRaa waafdmIall @1 Rig HRI — Prove the following indentities

CosAtan A=Sin A

cosec Atan A = Sec A
sinASecA=tan A

cos A cosec A =cot A

sec A cot A = cosec A

tan AcotA=1

sec A.cosA.secA=1
Sec A. cosA.tanA. CotA =1
Sin A.CotA.SecA =1
Sin A. TanA. CosA = SHhA

cos A.tan A.cosec A=1

Cos A.sec A
cosec A

=sinA

sin A . cosec A _
sec A

COSA
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81.

82.

83

84

86

87

88

89

90

91

92.

93.

94.

95.

96

97

98.

99.

1-tanA _ cotA-1
1+tanA  cotA+1
tanA _  Sin ACosA
1taf A cog A-Sif 2

1 &1 g BT Prove that following identities

cot'6+cot0 = coset - coseéd

tantd +tarf@ = sed0 - secéod
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100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

Prove that
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8Bl . 10
UNIT - 10

Breatufafa  srdefirerd

[TRIGONOMETRICAL IDENTITIES]

®g U@ ¢ W Wi Short and Long Answer type Questions :

U 1

U 2

U 3

U3 4

U1 5

fig @i -

CotO + tar® = cosef.sed
Prove that

CotO + tar® = cosef.sed

g @ifoig & -
CC_)Sz A + SinA = cosec /
sin A
Prove that
CC_)Sz A + SinA = cosec /
sin A

g @ifoig & -

SirfA + cos A = (sin A + cosA). (1-sinA.cosA)
Prove that
SirfA + cos A = (sin A + cosA). (1-sinA.cosA)

fig @ifvig & -
cos® _ 1-simd
1+sin0  cod
Prove that

cos® _ 1-sim
1+sin6 cod

g @ifog & -

secd + coseéd = seéd.coseé
Prove that

secd + coseéd = seéd.coseé
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6 Sec AX. 1-siP AP IR PINTY |
Simplify
sec A X|/1-sir? A

7 AR 4co20=3 A A 6 BT AF ST BT |
If 4co2 6 = 3find the value 0B

8 fug =T o :
coseé 6 = 1+cot 6
Prove that
coseé 6 = 1+cot 6

9 fug @ifog :
tart 0 - sirf 6 = tarf sirf 6
Prove that

tart 0 - sirf 6 = tarf sirf 6

10 g @fog -
1+ tarf A = seé A
Prove that

1+ tart A = se@ A

11 fag *fg -
SIMA+CcosA=1
Prove that
SIMA+CcosA=1

12 fig ofg

1-Sin A
(sed -tan Ay = ol

1+Sin A
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13

14

15

16

17

Prove that

1-Sin A

(sed -tan Ay = S A

g Fifog &

tartA + cot A +2 = seéA. coseé A

Prove that

tartA + cot A +2 = seéA. coseé A

g #ifog &

1-cos A
(cot A—cosec) =

1+cos A

Prove that

1-cos A
1+cos A

(cot A—cosed) =

g @ifvi &
cos A N cos A —5secA
1-cos A 1+cos A
Prove that
cos A N cos A —2secA

1-cos A 1+cos A
g @ifvig &

tartA O + tarf 6 = seéb —secH
Prove that

tartA 0 + tarf 6 = seéd —secd

fog oI f&

(cod -sinB)?+ (coP -sinB)?= 2
Prove that

(co9d -sinB)?+ (coP -sinB)?= 2
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g3 18 =1 SR &1 g S Y

co) . cod _
cosef+1 cosef-1
solve the equation :

cod + cod _
cose6+1 coseb-1
ye 19 fig @ifvig
1~ cosy =cosef - cob
1+ co9
Prove that
1709 _ 1se6 - cop
1+ cod

g3 20 IR} O°< B <90 @) fr= gfiewur & g Hfew —

1 _3
sec€ 0.(cot’0-cos0)

If O°< 6 < 90, solve the eq%er\]Lign 1 _ 1
1 s cosO cos'o
sec 0.(cot?0-cosd)

-secdf

g 21 O° < 6 90 B forw Rig @R fb

For O < < 9, prove that

1 1
cos0 cos'o

tan*0 -seco
Ued 22 T O°< B0 <90 @ = T & g Pifoiw —

cosH N cosh _
cosed+1l cosed-1
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For O < 6 < 90, prove that

cosy . coh _
cosed+1 cosed-1

we 23 o wieRer Bl g PG —

COSA + COsA _ 4
1-sinA  1+sinA

Solve the equation

COSA N COSA
1-sinA  1+sinA

e 24 g @ifog fé —

tanpA+tarny _ tam +:
tang-sing  tagp- !

Prove that
tanpAttary _ tag +!
tang-sing  tagp- :

T 25 g @R
cod N sind

sin(90 0)  cos(90 ) _

Prove that
cod + sing =
sin(90 6) ~ cos(90 -0)

T 26 050 2 sinsk
_ ot40 1 cos3b
Find the value o%' 2 " sin5g

40 1 cos3b
co COSOHT AN ST PIRT |
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Ueq 27. sin 84+ sec 884 & 0°3R 45° & 9 DIV & ©U F Fad DI |

Express sin84sec84 in terms of angles betweert @&nd 485.

e 28. Rig difsg —

secl8. cosec 75- tanl8. cot 78 =1
Prove that
secl8. cosec 75- tanl8. cot 78 =1
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=T 1.

R 2.

R 3.

R 4.

Hag T
Height and Distance
0 # G TP AT B BT IAD! SIS &1 37T 8 a1 39 I97 G
BT ST BIT FIT BN |

If the shadow of a person.3 times of his height find the angle
of elevation of the sun.

Udh US Bl BT 15/39ICR 2| Ife US I Harg 15 Alex &1 o qd &
ST B S HINTY |
The shadow of a treeis/z metres, if the height of the tree is 15

metres, find the angle of elevation of the sun.

50 HrexX &d YT Bl AT A Th oI8Tsl & 37g-a- Hior 3P 2 T uabrer

WY W T8l @l o¥ garsy |
From the top a light house 50 metres high angle of depression of

a ship is 30find the distance of the ship from the light house.

T g By fasTel & @wy & ReR | <@dr € & e”iad & e fawg

&1 3aAa 17 6Pz | Al @™ & a8 ¥ g 31 g0 25 Wew & ar

R B HATs I DI |

A person from the top of an electric pole observes that the angle

of depression of a point on the plane i%i6e distance between
the foot of the pole and that point is 25m, find the height of the pole.
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W 5. "R @ urg 9 25 Hier & 0 ¥ AfeR @ RBRaR a1 319 pivr 45° 2|

R 6.

R 7.

R 8.

AR @ HaTs T B |
One angle of elevation of the top of a temple sa45 point 25

metres away from the foot of the temple find the height of the temple.

el et & RReR &1 S=199 S1o7 9fA W Rerd 1w fag 9 30° 2 8iR
o= @7 2Tk 50 Hiex g W 9@ R &1 S99 ®Ivr 45° 81 Sirar

2| ol o SarE I SN |

The angle of elevation with a point on the ground of the top of a

chimney is 30after moving 50 metres towards the chimney the angle
of elevation of its top 45ind the height of the chimney.

el g o ta ¥R & I &1 I3 Bior 6 71 a1 39 fag 9 40
Aler o W (AR ¥ iR 3fde §R) ged R RRIR &1 31949 Bior 30°

2 MR & A8 A1 DI |

At a point the angle of elevation of the top of a tower fs&@0
walking 40 metres away from this point (more distance from the tower)

its elevation is 30find the height of the tower.

8 e o=l Usp AT U fasiell & Wy &1 A1t | 8 #Hiex =ird ugerd]
2| afe N & yre W @™ b BRI BT I~ Bivr 60° 21 1 W P

ST SITd BT |

8 metres long ladder reaches 8 metres below the top of an elec-
tric pole, if the angle of elevation of the top of the pole at the
bottom of the ladder is 8(Find the height of the pole.
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W= 9.

W= 10.

= 11,

el gpTer Wi & RRaR | S 998 de 9 100 Hiex SHar g d &F Amaf

@ gTAd BT AL 45 iR 30 © | Al Al IR gerer wWH @

MR U &1 ARl N1 | 8 a1 A1l & 91 &1 g sy |

From the top of a light house 100 m high the angle of depression
of two boats are 2%nd 30 respectively, if the line joining the boats
passes through foot of the light houses find the distance between the

boats.

U Al IR MR U@ 8 0ol R @ & | A9R 3 Aie! 9 @ & o

TG MR & 3ra=A+ divT A 30 ik 60° B | afe forrit o S=1€ 100

H1 & A HHR @ Sd1g 3d DI |

A chimney and a tower are in the same plane. From the top of the
tower, the angles of depression of the top and bottom of the chim-
ney are 30and 60. If the height of the chimney is 100 metres,
find the height of the tower.

TP UBTS! & QT 3R R & TRI & Bl 3 UBTS! Bl Al & I~

Fror 3P R 60° 21 AT UBel TR & B 4 UBRS! Dl AT dl & 9
5 8 I TR TR & &= A USIS! 3l 1T B g3 GHAT & &I Rl

qd g fharier H S B ?

The angle of elevation of the top of a hill at the city centres of the

two town situated on either side of the hill ar&&3@i 60 respec-
tively. If the distance from the centre of other town and top of the hall is
9 km. Find the distance from the centre of other town and top of the hill

in kilometres correct upto two places of decimals.
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=T 12.

= 13.

W 14

W 15

TH e B QFl [PART IR M- Uh —Udh Hfex & U Hfex 40 HI.

AT 2| 39 AR & ST RR A T8 R R AR &7 S RRT gd da

&1 3awe v e 3P @R 45 g1 7| Hiesd § A4 @ Afeae

dreTg 3R g AR @1 Afde Hars Jarwril ?

There are two temples facing each other one either side of the

baks of a river. The hight of one temple is 40 meter. On observ-
ing from the top of this temple the angle of depression of the top
and this foot of other temple are®zhd 48 respectively. Find

the width of river and height of other temple apporimately.

T SIUS] [l §9del R el & | Ife FAde & U [dwg 9 Sl 3108 |
150+ex &1 T W B 08 BT I o1 30 BT A, 0SB HaATg S
DINTT |

Flag stand vertically on a horizontal plane. The angle of eleva-

tion of the top of the flag at a point of distance 150m from the
base of the flag 30find the height of the flag.

I D I A I AT QR S BRI o1 TG {1 Fes Bl
BRI SHGT o 18 B 3 T 2|

The shadow of a pole3 times longer find this angle of eleva-
tion of the sun.

T geT Bl BT 203 HIex © | AT g&T Bl Harg 20 #iex € ol g o
I BT AT R |

The shadow of the tree is Z® m. and its height is 20m. Find
the angle of elevation of the sun.
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U 16

W 17

U 18

W 19

T AR & R H 150 #eR 31 g0 WR 64T Uerd Bl 9@ RRER &7
I~1I= B1o1 60 &1 fewrs gsar g | dF HI9R &1 a1 S1d Bl |
From a point distance 150 m. from a base of the tower its angle

of elevation is 60 Find the height of his tower.

TS UHTeT W 3 ST AT & S THbTel o o fauia feemsi # & e+

g 31 30 3R 45° & 7| Ife g w9 @1 Sare 100 Hier 71 3R

ST Aprell Pl AT dTell AR VAT Ul w9 & UIg ¥ [oikdl ©

SET ARl & 91 B ST B

The angle of depression from light house of two in opposite di-
rections of a light house are found to beattd 30 respectively
from the light house. The height of the light house is 100 m. Find
the distance between the ships.

T 3T fhT g7 HMR &1 SA1E 91 BT I18d © | 99da @ (bl

g ¥ MR & RreR &1 391a dior 30 &1 & | ¥R &R 20° Hiex

T TR I HIor 60 HT 8 AT B | HEAR BT SHdTs Sd BRI |

The angle of elevation of the top of a tower from a point in the

ground is 30on walking for 20 m towards the tower the angle of
elevtion is 60. Find the height of the tower.

Bl forg R AR WR =194 ®1vr 3P & | 50 Hier I¥ah! 3R Fer W
AP I~ D191 45 81 1l & | Afe S favgal & et arefl v
AR & U8 Bl A &, d 4R B SHas I B |
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=T 20.

= 21.

R 22.

At a point the angle of elevation of a tower i8.8h moving
50m towards the tower from the point the anlge of elevation be-
comes 45 Find the height of the tower.

3R STa et ® b SaT S0 H1o1 60° © | 19 a8 12 Hier 91w gedT

2 A9 SI1d 8idl & b SEar 3=+ ooy 3P 2 | a1 7<) &1 drsTs i Us

B GETg S DI |

A person, standing on the bank of a river found this angle of

elevation of a tree standing on the opposite bank‘asdifeat-

ing back by 12 meter in the line of the tree, he found the angle of
elevation 30 Find the width of the river and the height of the
tree.

sl g ¥ v H9R & RRaR & I+1a9 cr>|U|a?rw\ru|$rﬂFrl—52%\'
| 3T MR &Y 3R 80 HIeX Il TR IS9P PR & I~IT BIUT Pl

3 [ C
AT BT A -, ST 21 d HFR B $ars Siid Bl |

The Value of tengent of a angle of elevation of this top a tower
from point is 5/12 on moving 80 m towards the tower from the
point of tengent of the angle of elevation becomes 3/4 find the
height of the tower.

TH U2 Bl Sas 15 M2 S9! BRI 53 W1 & SHBT I~IF P
aRIfl |

The height of atre is 15 m. Its shadowsm. Find the angle of
elevation of the sun.
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W= 23.

R 24,

W 25.

el HFR &7 S99 SIT60° & 99 fag A Sl HMR & TR 4 75/3
A R g HIR @ SHars gamir ?

The angle of elevation of a tower’d8om a point at a distance
of 7s5/3 m. from its foot. Find the height of the tower.

50#ey & W U& HHR &I IR Fo-l R 31399 ot 30 & 45 &

AT 8 | HER @ SHaTs gadmel |

On walking 50m towards a tower on a horizontal plane the angle
of elevation of the tower change fron?3945. Find the height

of the tower.

100ex 3l gceM | ¥l HMR & AR AR AT BT aTH DI

a9 3 ik 60° ® AT H9R &I oS gdrel |

From the top of a 100 m high rock the angle of depression of the
top and the food of a tower are found to bé &td 60
respectively. Find the height of the tower.
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gEE 11
T et
[STATISTICS]
Tegfors  U¥a/Objective Question
e —  A[ Y Y IR f[Adhed ¥ 98T IR gy |

Short out the currect ans from the following given four Answer.

U 1 UM 10 UIHd HEIRI &I AT BN —
The mean of the first 10 natural no is

(@ 5 (b) 6
() 5.5 (d) 6.5

U 2 T 6,810 3N 12 BT IHRN AT BN |
The arithmetic mean of 6, 8, 10 and 12 is

@ 3 (b) 6
(c) 9 (d) 12

Yy 3 57,0108 BT AT BRI |
The mean of 5, 7, 0, 10, 8 is

@ 3 (b) 6
() 7 d ©0

U 4 01,25 BT AT BN
The meanof 0,1,2,3,5is

@ 1 (b)
(c) O d) 8

N

Y 5 2,4,6,8,10,12 B HATCTHT
The median of 2, 4, 6, 7, 10, 12 will be

(@) 4 (b) 6
() 7 (d) 8
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e 6 fad T smgfy |IRer # From thegiven following table
The median of 2, 4, 6, 7, 10, 12 will be

Marks Obtained 10 | 16 17 181 19| 20

Frquency 4 6 8 |10 | 5 5

IR AT B8R Arthmatic mean will be
(@ 15 (b) 10
(c) 17 (d) None of them/@g =&}

e 7 5678757 @& ARG BN
The mean of 5,6,7,8, 7, 5, 7 will be
@ 5 b) 6
(c) 7 (d) None of them/@§ &l

U1 8 95,100,110,105,100,115,120,100,95,130 Ud 100 <hT HIEH BN |
The mean of 95, 100, 110, 105, 100, 115, 120, 100,, 95, 130, 100 will be
(@ 90 (b) 110
(c) 120 (d) None of them/@§ &l

g 9 R T amga wiReh o

From the given frequency table

Age in Year 15| 16| 17| 18| 19| 20| 21 22

Frquency 3 4 5 10 10 6 2 1

IR A’ BRI Arthmatic mean will be
(@ 20.5 (b) 18.5
(c) 21.5 (d) None of them/gH ¥ ®Ig &l

U 10 30,5,21,42,13,10,27,33,17,8 P HegHT BRI |
The median of 30,5,21,42,13,10,27,33,17,8 will be

(@) 10 (b) 19
(c) 18.5 d) 19.5
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e 11.

U3 12.

U3 13.

U3 14.

U3 15.

T S H 1 BIEI g1 MAMER 316 U fhy AR A6 <1 B |
In a test 11 students obtained following marks.
6,57,4,8,3,9 2,10, 1, 11

f= aReft g1 A ST B |

Find out the Mean from the following table
Variable 1 2 3

Frequency 3 1 3

@2 (M35 (¢c)3 (d)45

e giRol gRT <9I T 3ihi BT AT S B |

Find out the mean from the following table :
Calss 2-4 4-6 6-8
Frequency 1 2 1

@3 ®5 (7 (@2

for iRl g1 AnfeaanT sma &R |

Calculate the median for the following data :
6,4,8,35,7,5

(@4 (b)3 (c) 6 (d)>5

8 OIAI gRT U 3l BT HIeTdT ST B |

8 Students obtained following marks :
3,5,4,1,4,6,7,2
@5 (b)4 (c)3.5 (d)45
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sEE 11

UNIT -11

Rflr wgfr @ am

[MEASURESOF CENTRAL TENDENCY |

og w &d A9 9ee Short and Long Answer Type Question

U 1

U 2

U 3

U3 4

U 5

Fd & B UIRAl § s91/1 & A B g wAw 35, 0, 75, 15
28, 358 | Su®dI A s PIRT |

Kapil Dev made 35, 0, 75, 15, 28, 35 runs respectively in six innings.
Find his average.

6,8, 3, 1, 5, 4,2 HiftasdT @ P |

Find the median of the series
6,8,3,1,5,4,2.

M ofiforg f 7 9redl & R ¥ 70, 73, 72, 76, 74, 88R 134

. w €| S &1 &iwd s Hvw |
Let the weights of 7 boxes be 70, 73, 72, 76, 74, 80 and 134 kg. Find the
average of these weights.

BIE BT 3T YR 55 fh. UT. 8 | 399 W 6 BET @ UR HAT
52, 58, 55, 53, 563k 54 f&. U1 €| HGd BF BT R T
PIQ |

The average weight of 7 students is 55kg and the weights of 6 students
are 52, 58, 55, 53, 56 and 54 kg respectively. Find the weight of the 7th
student.

T & ¥ v anell § ge d§ Ue fAunem @ SEm A el

N e iR uel A wem @ S ®

The number of branches and plants in a garden of a school is given the
following table :

TRl B AT el B e
2 49
3 43
4 57
5 38
6 13
H AT 14> 200




gfa dier ) wmEmel @ sitad gear uRefora sifSig |

Number of Branches Number of Plants
2 49
3 43
4 57
5 38
6 13
Total 200

U 6 W & TS IRV H UH 150 ORI ¥ | = @ G &) 8
21 yfy uRaR w=af & g s HIRN -

Tl DY G 0 1 2 3| 4 5
TRa™ B =T 10| 21| 5| 42| 15| 7

The number of children in 150 families of a village is given in the
following table :

Number of children Number of families
0 10
1 21
2 55
3 42
4 15
5 7
Total 150

U 7 30 HIEI BT ALY 150 o1 | Gifd &4 U I§ UrAT AT P
AT NPT B @ SR A 165 D WM W okl 9 135
forg fear war 21 9 wem s B |

The average of 30 items was 150. It was found on verification that by
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U 8

U 9

U 10

U 1

mistake 135 is written in place of 165. Find the correct average.

50 ¥ NAMT X, Xyoeeoeeens X & fgedl &1 TS -10 3R 469
39 A B fage &1 S 70 8 | W™ R n @ WM W
PIFIT |

The sum of the deviations nvaluesx, x.......... xrfrom 50 is -10 and
the sum of the deviation of these n values from 46 is 70. Find the value
of mean anah.

T D T TRl ¥ e wET B 12 BEAI gRT AiRE@) AR
Aifoer & er § g ey Ty e Ry MU F)

$. 9. 1 2 |13 |4 (5|6 |7 (8|9 |10(11]12

P | 53| 54(32|60|53|46| 28| 25|48 72]|33]65
(GUESEd))

F®
(aifea) | 55 | 41 | 48 | 49 [ 27 | 24 | 23 | 20 | 28 | 60 | 43 | 67

qasy b fed fAwg & wWer § o=l &1 yg3= =T & 2

The marks obtained by 12 students in the examination of statistics and
physics in a class are given below :

S.No. 1 2 (3|4 |5 |6 |7 |8 (9 (1011]12

Marks | 53| 54| 32| 60| 53| 46| 28| 25| 48| 72| 33 | 65
(Statistics)

Marks
(Physics) | 5 | 41 | 48 | 49 [ 27 | 24 | 23 | 20 | 28 | 60 | 43 | 67

40 Al PT GHIRR ArF 65 8| IR §T 40 WA ¥ W UAS AH

# 5 @ gfg IR D WY A Y AW BT GAMGR AR |G DI |

The arithmetic mean of 40 values is 65. If each of 40 values is in-
creased by 5, find the arithmetic mean of the new values.

frfafed sRERar deq 9 ag T gR1 ¥R Wg 9«
DI | IR § Aoyl @ BNg @9l (WUl # ) &1 geq &
T 2
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Td (Wal H) IRFRAT
100-150 24
150-200 40
200-250 33
250-300 28
300-350 30
350-400 22
400-450 16
450-500 21

Find the arithmetic mean by shortcut method for the following distribu-
tion. The table gives the distribution of total household expenditure (in
rupees) of workers.

Expenditure(in rupees) Frequency
100-150 24
150-200 40
200-250 33
250-300 28
300-350 30
350-400 22
400-450 16
450-500 21

g 12 T S SRl § U sk A U a¥ ¥ e faww A |
qfsa AR @1 g ded R mr g -

amg (asf ¥ ) At @ G
514 6
15-24 1
25-34 21
35-44 23
4554 14
55-64 5
F T 80
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U 13

The age-distribution of patients from a special disease in a city during a

year is given in the following table :

Age(inyears)

Number of Patients

5-14 6
15-24 1
25-34 21
35-44 23
45-54 14
55-64 5

A AN 80

f IRERAT §e9 ¥ SRR 9EE S P —
ERI IRFRAT
15-19 3
20-24 13
25-29 21
30-34 15
35-39 5
40-44 4
45-49 2
Find the arithemtic mean from the following table :

Class Frequency
15-19 3
20-24 13
25-29 21
30-34 15
35-39 5
40-44 4
45-49 2
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U 14 Ife = A v Iffest & A" 206 B O ISA IRERGAT

(X)&1 9§ Py |
(x) 10 15 20 25 35
) 3 10 X 7 5

The mean of the following data is 20-6. Find the value of unknown

frequency X).
(X) 10 15 | 20 25 |35
(f) 3 10 X 7 5
3 15 Uil o feifea smafy Raver & aamR arer @g A @
o DY |
TP 5 | 10| 15| 20 | 25 | 30 | 35 | 40 | 45| 50

BF 9T | 15 | 50 | 80| 76| 72| 45| 39| 9 | 8| 6

Find the arithmetic mean of the following data by short-cut method :

Marks 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45| 50

No. of Students| 15 | 50 | 80 | 76 | 72 | 45 | 39| 9 | 8 | 6

g 16 fA=faRad sffesl 4 G9=IR AT ST PINIT —

G 0-20 20-40 40-60 60-80 80-100

CIRESIR ] 17 28 32 28 19

Find the arithmetic mean of the following data :

Class 0-20 20-40 40-60 60-80 80-100

Frequency 17 28 32 28 19
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yeq 17. fafafag sReRar aroft ¥ Arg 50 81 Ry 20—40 qeIm
60—80 JN—IIRIAAl @ INARAS f, 3R f, 9@ 2| T =
IRERAS B ST P |
The mean of the following frequency table is 50. But the frequencies f
and f in classes 20-40 and 60-80 are missing. Find the missing frequen-

cies.

T Class INeRaT  Frequency
0-20 17

20-40 f,

40-60 32

60-80 f|

80-100 19

Total 120

U¥ 18. (& BR Y&@H Il Afdd AR dF 991 & Ugel 99 7.50 .
g0 o, gEY 99 8.00 ®. U ileX 3R MR a¥ 850 &. ufa
Wiy B X ¥ Ugla SNl B It Th YA 9 4000 . @I
Ugid @¥edT & @ Ugid @ WA efler Iid &) 9 g |
A car owner buys petrol at Rs. 7.50, Rs. 8.00 and Rs. 8.50 per litre for
the three successive years. Compute the average cost per litre of petrol
when he spends Rs. 4000 each year.

U 19. 7 BEI @& MGd AR 55 fHAT 81 7 ¥ 6 BEAI & AR HA:
52, 58, 55, 53, 56 3AIX 54 fH.UT 8| A4 BEF & AR G
PIFAY |
The mean weight per student in a group of 7 students is 55 kg. The
individual weights (in kg) of 6 of them are 52, 58, 55, 53, 56 and 54. Find
the weight of the seventh student.

weq 20. o AT @ AilRaer @ Afie-
Find the median of the following values -
() 15,6, 16,8, 22,21,9, 18, 25
(i) 31, 38, 27, 28, 36, 25, 35, 40
(i) 25, 34, 31, 23, 22, 26, 25, 29, 30, 32
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U3 21. HIGHT ST PIfOg—

U 22.

U 23.

W 24,

Find the median of following frequency distribution -
@) x: 57 9 12 14 17 19 21
f. 6 53 6 5 3 2 4

@M x: 3 61012 7 15
f: 3 42 8 13 10

=T sfipel A MR d1ed ST B |

Calculate the mean for the following data.

Class interval : 25-31 31-37 37-43 43-49 49-50 55-66
Frequency : 10 6 8 12 5 9

T FAR e & 100 ASIGRI BT Aled da- AR © | AU sfids
@ AT S DB |

The data below give the weekly earnings or 100 workers in a Flour Mill :

Weekly earnings No. of workers
0-50 8
50-100 15
100-150 32
150-200 26
200-250 12
250-300 7

Find the mean weelky earning of a worker from the above data.

o qRFRAT de 9§ HIEgH ST B |

Determine the mean of the following frequency distribution :
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Group Frequency

10-16 1
16-22 10
22-28 5
28-34 3
34-40 6

geq 25 7 IRFERAT de9 9 AR S 6N |
Calculate the mean for the following frequency disribution :
Classinterval: 0-4 5-9 10-14 15-19 20-24
Frequency : 2 6 10 5 2

W 26. I IR W SRafed Ui &) A EaR § A §i1d o |

In a study on diabatic patients the following data are obtained :

Age at detection (in years) Number of patients
10-20 3
20-30 2
30-40 5
40-50 11
50-60 3
60-70 1

Find the mean age at detection.

Y 27. 99 IRFERAT de9 ¥ AR Sd B |
Calculate the mean for the following frequency distribution :
Classinterval : 0-5 5-10 10-15 15-20 20-25 25-30
Frequency : 4 5 7 12 7 )
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yeq 28. =1 wiRoh & arey =i1d BN |

Calculate the mean for the following disribution :

Class Frequency
5-10 5
10-15 6
15-20 15
20-25 10
25-30 5
30-35 4
35-40 3
40-45 2

UeT 29. IARE URiC BT MY & ATAR H&T & B |
In a study on diabetic patients, the following data are obtained. Find the

mean age at detection.

Age at detection (in year) Number of class
10-19 1
20-29 0
30-39 1
40-49 10
50-59 17
60-69 38
70-79 9
80-89 3

ueq 30. TS A & 432 AoIgRl @ M g g1 foet iRl # faar wram 7
H1E =TT DI |
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The data below give the earnings of 432 workers in a mill. Calculate the

average monthly earnings of the group.

Monthly earnings Number of workers
(in rupees)
80-100 18
100-120 30
120-140 20
140-160 40
160-180 90
180-200 70
200-220 68
220-240 36
240-260 27
260-280 21
280-300 12

U3 31. 1200 BTAT §RT 800 Yolids H UTKT 3fehi T fdaxor ARl gRT <=/ 11
2| AT A B |
The marks obtained (out of 800) by 1200 students in an examination are

given below. Calcuate the mean.

Marks Number of Students
201-250 62

250-300 120

301-350 412

351-400 100

401-450 379

451-500 87

501-550 23
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U3 32.

U3 33.

U3 34.

W 35

R 36

551-600 12
601-650 3
651-700 2

f= aReft g1 Ay St B

Calculate mean from the following table :
Size : 0-10 10-20 20-30 30-40 40-50 50-60
Frequency: 3 5 4 6 2 2

o=t gilRo & qifSaepT aaren |

Calculate the median for the following set of numbers :
7,9,5,4,2,8,7,3,11,12,9,12, 13, 15and 16

for=1 aRoft & J1fSaeT sa B |

Find the median for the following set of numbers :
8,11,4,3,2,5,10,6,4,1,10,8,12,6,5,7

T Spsl BT HIfegdhT Sl |

What is the median of the following data

Size 5 10 15 20 25 30 15
Frequency >3 4 6 10 12 9 8
frfaRad eridmst @1 wifegdT sma &9l |

Calculate the median of following distribution:

X ;8 10 15 20 25
Cumulative

Frequency >4 11 15 20 23
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W 37

R 38

T 38.

frfaRaa sniws @1 Afead s1a &1 |
Find the median of the following distribution
Age . 20-25  25-30 30-35 35-40 40-45 45-50

Total No. of Person up to.
Cumulative

Frequency : 50 120 220 400 550 670

100 BT gRT U] BT gferera Aol & &= T § | J1feasdT sma ey

The percentage of marks obtained by 100 students in all examination are
given below : Compute the median.

Age :  20-25 25-30 30-35 35-40 40-45 45-50

Total No. of Person up to.
Cumulative

Frequency : 50 120 220 400 550 670

100 BET §RT Urardi & gfaerd alRel # fear = 8 1 wifeasr sma

I |

The percentage of marks obtained by 100 students in an examination are
given below. Computer the median.

Marks : 30-35 35-40 40-45 45-50 50-55 55-60 60-70
No. of students : 14 16 18 23 18 8 3
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e 39. 4 ridmsi ! AIfHT S1d B |
Find the median of the following data :
Income in Rs. : 80-100 100-120 120-140 140-160 160-180
No. of Persons : 5 6 2 3 4

U3 40. 711 37gfcd deT &l Ay =1 B |
Find the median of the following distribution :
Marks : 10-25 25-40 40-55 55-70 70-85 85-100
Frequency : 6 20 44 26 3 1

g 41, 99 eTidsi gRT AfSadT ST o |
Calculate the median for the following data :

Height (in cm) No. of Students

136-140 3
140-144 8
144-148 15
148-152 19
152-156 35
156-160 27
160-164 20
164-168 9
168-172 4
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Q 42.

Q 43.

Q 44.

f=1 sl gRT AfSgeT ST BT |

Calculate the median for the following data :

Scores No. of Scores No. of
(out of 75) Students (out of 75) Students
0-5 6 25-30 250
5-10 12 30-35 185
10-15 50 35-40 110
15-20 120 40-45 32
20-25 225 45-50 10

=T arfdhsl gRT AfSTdT Bl B |

Compute the median of the following data :

wages in Rs. No. of workers
0-10 22
10-20 38
20-30 46
30-40 35
40-50 20

1991 @ VAT & JTAR AWM= g A8 & JwUl DI 01 ARV A
HfeghT S BT |

The following table gives the population of males in different age-groups
according to the 1991 census of India.

Age group (in years) No. of males (in lakhs)

5-14 447
15-24 307
25-34 279
35-44 220
45-54 157
55-64 91

65-74 39
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